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Note: Write Answers lo the Questions on the ve answer sheet provided. Four possible answers A, B, C and D lo each question are given. Which
answer you consider comrect, fill the coresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.
YR e S PO e .. WG
(x-1)(x+2) — " {x-1)(x+2)
(A)  An improper fraction,/2i: # (B) A proper fraction,~/_2is
(C)  Anidentity =L (0) A constant e/, >
2. The set having cnly one element is called: bl Ll e 2
() Nullseterje (B) Powerseterst (C)  Subseterd / () Singleton set -G
3. The number of elements in a power set {a, b, ¢, d} is: ‘e plaF l’;ré...;agé a,b,cd} 3
(A 4 8- 6 (C) xiD 16™
4. Sum of the deviations of the variable x from its mean is always: BTy, <w Ib’x
B zemx B One m RN

10.

1.

12.

13.

14.

18.

Cosec? @ — cot?8 =

% Cosecz'ﬂ\- cot’f k]

A 0 ® -1 \{Cl\ o) ?D)\_L/
3 N, \
Radius of a circle are: e N \ N (})\ \ il e gLl 8
(A} All unequals. & (v (B) f‘/ Al equal /Iff} [C] \Wﬁ%éﬁﬁ df (D)  Double ddmrﬁ;ﬁ
Tangents drawn at the ends MdsaMf a ua&?re _fi-h.qﬁ\hgﬁéﬂ\ ade YA LE e LpLen T
S
") Perpendlcula;d»«f B\ F@J © \ Far'aiieL@::/ 0  Colinearwss
A4 omfong cHordubtands a cental an mu \ G T bt A60° (S oS r i B
segment of this ci N“Q‘m)v } Kx__ i
~y )
(A) / ,4: Af[livfw 3cm (CE/"; 2cm (D) lcm
Angl ndibed i egmiirce ' o S e b L hid 9
{ /i” T
(A 'g' \~_ {B] N g S (0) 3 () n
\

The number of methods to Sive a quﬂm?ﬁquaﬁon is: SBESELLSS e N0
o 1 By 2 © 3 0 4
Two linear factors of x? — x — 240 are: WG Lnlxt —x =20 11
A (x-5&(x-4) B @E-5&(x+4) ([ x+5&(x+4) D) (@x+5&(x—-4)
Cube roots of —1 are: e l~1 A2
(A) -1 w,~w? B -l-we? (0 1 —w,—w? 0 -1-ao-w
i*%lﬁ&qlﬂuﬂi q...-'l.ri—% RE

B—o x —f 1 : S |

L p—— - D - + -
(A) <P (B) <P © B ) B
In a ratio x: y, y is called; :?rmfyu:x:y# 14
(A) Relation” ()  Antecedent/.k¢ (C)  Consequent’.ss» (0)  Proposition 4
Find y in proportion 4: y::15: 5. Ly by 15:5 & 15

3 o ! 5

(A 1 (8) 3 (€) 3 (0) -t

21-10-A



Roli No to be filled in by the candidate SSC-(P-l)-Al2024

MATHEMATICS (Science Group) Subjective ~ (For All Sessions) A0 L
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SECTION-| o
2. Write short ﬁnswers of any six parts from the following:  (2x6=12) u.&/..-,pz/"” LJ:-::@;.J! Stits 2
. Define reciproct’ equar ri. 2 8 AT NPT
ii. Solve by factorization: Sx2 — 30x = 0 /f AT IPE
jii. ~Solve the equation using quadratic formula: - 4x2 = 3x =14 i fu S ety AGsnd s il

iv.  Find the discriminant of the quadratic equation: 9x% + 25 =30x b J¢ Pufu ,g_,,,L,L;m, v
v. Find the sum & product of the roots of the equation: 3x“ —5x+7 =0 ‘é‘-

. | jon: * - I .\.\{ ,-’(f: lu:urf Ku‘ etV
vi. Evaluate: WA TS 1\ v 5/ e i
i i T "'"\\ \\ \\_ - ) 1 : 14
vil. Define inverse variation. ( " « L NyEd

vil. If g ocf;and a = 3when b = 4 findvalue of K. | \\ il .:.uEJK\;’\b‘é\-@ o Sean zﬁ il

ix. Find a mean proportional between 20,45 \\ % N (O, \ 20, 45“£r:5‘/ Oidn, X
3. Write short answers of any six Wﬂs from the foIITwing: \ X \_) %}_ j._hwﬁ Lomgedftditn 3

i. Define an identity. { p A \ L,_-“ \‘ j" S /,-U/ T
i, 5=t _ . s Sx=¢ _ A4 B A
If e = == then ﬁnd the valuas of A &ﬁ; Q\-L{erJBZm’m St x+2/’|
ii. Define a bijective-function. :‘.f:"“\"‘i‘{“*i,\ \ Y 30 g sed i

oY prloSae- i
iv. Ifx=09, y Z* ﬂ%ﬂ fjnd xN y{ﬁ?‘»\v ) / e xNylax =0,y = z*h v
v. Find a* "and };u. if: "\.\ QM (a ~4.h = =42 1) Nk b v
vi. Ify={-2,1,2} t‘fiian make ﬁvo blnar}r raiE‘éIQﬂS fg;f_,rw X y: -EQ-QH'JJLE':‘-‘ME_’J’ Xyiny={=21, 2}_)“. vi
vii. Define arithmetic mean. \,\ __:;,9 i il i
vili.  Find geometric mean of: e 2,4,8 ek e Losis B il
ix. Find the range of following ts of students: hr P(Range Jergl um:& Wiz ix

112, 109, 84, 89, 77, 104, 74, 97, 51, 59, 103, 62
4, Write short answers of any six parts from the following: (2x6=12) 7 ez A .f.,rzugc...Jf St 4

i. ~ Define radian. Al g
. Convert 315 into radian. | AL k315 ° i
i. Find area of the sector of a circle of radius 16 cm if the angle at 4 S i sw,,gpr?u:fr,l-i I A I A
the center is 60 . 60 s
v.  Prove that: v ol _2cosec? @ Sl W

1-cos@ = 1+cos@

v. Define acute angle. SIS S e Y

P.T.O. -——-——i_'.i!JJ!



vi.
vil,
viil.

iX.

Note:
5.(a)

(b)

6.(a)
(b)
7.(a)

Define circle.. - - Q W P )2 Y

-/ ;A -t/ _}'.‘. L;t.;b
Define circum-angle. LS P S ti
Define in-circle. LS Pt
Divide an arc of any length into two equal parts. Y /(:i'udu,-" gl JFJL}U/ .
SECTION-Ii (8x3=24) (1.0
Attempt any three questions in all while Q.No 9 is compulsory: e (5197 By rf Lot J
Solve the equation: 2x* - 11x24+5=0 7/ S S
If e, B are the roots of the equation x2 — 3x + 6 = 0, form s x(— 3x +6= 6 = Ozbileox, B.1i
equation whose roots are 2 e +1,28 + 1. #uxf%dﬂ-l 2@4_ 1&}35%‘_',:“,,
Find a fourth proportional to: X2 —11x £ 24, ;}é;aﬁ,‘é\z* - &’@ N\
% >, ; ;! L
1 ; . . f} #{,""; - \
e (x+1)(x%+1) i pi Ko, y ,f:rﬁz)&‘\) \‘\ _'q/ ‘kl;""'“{f/ B2 (1) (xf+1)
Provethat An(BUC) =(AnB)U(An C__ lf‘\ri h*«n (B U C} mn B) UHQ_Q)I;&LE
| A=(1,2,3,4,5,6 L 6,8}, cap 48\ e
Calculate variance of the data; T\?*“V’m 8, 0,7,5, 12\3‘5 AR R
. AN \ =.
If si 9——andtermnal rm. I ti
[: . ”I " ' ; d’ fﬁ : 4 jr s m;;ﬂ \'. ﬁ\{ﬁir_-r/i.df}lfﬁﬂﬂuslsﬂ‘lﬂ = '—'-;
quadran ind the valu sp remaining trigonom ) St
functions. --.Nl 1 'J;r’ww;"wwbh"
Inscribe zwdé{qan equilateral tnanglg ABC with e’a'eh side of AL L el 1315 KABC Loy Sl
length 5 \ e rodud

F’mve{gzif two chords\ba‘\a circle which are equndistant,hé'ﬁ the AUm SIS e T p 25 L I gt

s =

center, are coﬁgruent
N \'\ ( // Al nf 1
N | M’
_\ (OR) » (L)
Prove that the opposite angha’s of an{ quadrilateral inscribed in a s ko> Ll s oS s’ et
circle are supplementary.

AL por

%

22-90-A

il

Vil

(a).6
(b)
(a).7

(b)

(a).8

(b)
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11

10.

1.

13.

14,

15.

A fraction in which the degree of numerator is less than the degree of
denominator is called:

e QW enl eSS F S SibIRES S 11

(A Anequationeit- (B) Anidentity =£1vs (C)
fU ={1,2,3,.....,10} and A = {3,4,5} then A is:

(A) {(1,2,3,4} (B) {(3,4,5,6) (C)

A proper fraction /=1 (D)
‘e AIA = (3,4,5)sU = (1,2,3,...., 10111 2
{4,5,6,7,8} /.-—“{D'} -

6,7,8,9,10)

An improper fraction, /25 &

The number of elements in power set of (1,2, 3} is: ;ﬁrﬁﬂ' AL srn¥ (1,2,3} 3
(® 8 ®) 4 ©) 6 N D 9
if A < B, then AU B is equal to: ;4; “‘\ :.;:'hl:{;f;b:ﬂ L/})B?:r.ﬂ iﬂfl 4
(A) B (B) A (C) r‘,r’ f e/ \\,\ i / \(¢} I
[ .,
The spread or scatterness of observations in a data set is callgfd: " BN HM 7 PRy - Jlro’( 5
(A) Averages-s! (B) Dispersiont  (C) TE)entr If eg@&?um ; (D) M eggﬁ
Cosec?6 — cot?6 = \c}\gj N \ Cosec*6 /3:26 = 6
S I/'r:{:'\._) - N /
0 -1 B 70 TN & “ano }T} /R
T ' g ! MRS Vo W \\ b9 ¥ o U e

Locus of a point in a plane equidistand from a fixed pﬂﬂ}lg@&lﬁd‘ b g Uy il S reiBn Ly

| e RS, A S : 1
(A) Circle ».415 (8) {_ I_;«-’/Ra sy }\ \ (C) Grrcymference'm..j,- D) Diameter #

A ~% \ ! o
Acirclehasonlygne . ol e | & ST b LRl 8

9\ {.\Q}ﬁ' - B
(A) Secarit &6k, (8) " Centre ¥, | [! {€) ./ Chord 7 (D) Diameter 4
The length of the diameter df.a circle is how many fimes ‘ ingd;tn‘r’fr:-f the ﬁi;dé? S Jntf E Lyl mddSPLe vk 9
W AN W) 3 €5 2 o) 1
!-l. 5_\ ! /
Two linear factors of 2¢ — 15x +56 are. - w1 B GnknL x* —15x +56 10
A G-N&EFOE BFNEE-B) (0 G=N&x-8 O G+N&E+H
LY Y )
Solution set of the equation x*.— x — Zh-f;fﬁ’ﬁs: e crfix? —x = 20 = Ozile A1
I S B - I (3 N ¢ sy O 45
r -

Discriminant of the equation x,53x + 3 = 0 is: - ieasdG¥ x2 —3x+3=0 12
o +3 B) -3 () 15 (0) 4
Two square roots of unity are: sl Aiendl JE 13
(A) 1, (B) 1,~w (C) w, w? (D) 1,-1
A mean proportional between 20, 45 is: et 3es 220,45 14
") +30 B) +20 ) +45 0) +10
If u o v2, then: Juocvi/i A5
(A) u = p* (B) u = kv? (C) uv? =k (D) uv?=1
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2. Write short answers of any six parts from the following: ~ (X6=12) ./ Fepe FLazge §ftditn 2
i.  Define extraneous root. Ea e
i. Solve by factorization: 5x2 = 15x ESGF s
fii. Solve the equation by using quadratic formula: —x%= Tx -2 S esaflr BB onfenl. i
iv. Find the discriminant of:, x2+ 3x=-5 i3 W
v. Evaluate: w37 + w3® +1 f;’:: ., ‘\ ered Y
vi. Write the quadratic equation having following roots: 4,9 .’" \ o {;";\%L“Lﬁuyﬁ il M
vii. State theorem of componendo-dividendo: /,? i\‘ - Lo T,Juw;r,j, e i
Vil |f @  ozand @ = 3when b = 4 find value of K. / MI(PJJK{:‘: b= 4?5//-\3ma il
ix. Find a mean proportional between: 2(?&:33:5 5x7y S e Lol s ix
3 Write short answers of any six parts from the following: ' {ZXE-ﬁL .._[/ jEw}? &l?i,; Slien 3
i. Define proper fraction. /,_..f”“*-a. \ < _\,‘ rf]\\f “"\ \ _g/ Ly }'J Soah
i = then find the values of A & B:sa 2>\, _;b’ﬁg»‘_,;}]hm % 3"_1 m f i
.,

v. fA={1,2, %B (2,4, 9}Jar}d\“~ N #B ={2,4,9}A = {1,2,3},-'? v

x2—1 x41 A
o \
fii. ~ Write all the subsets of {a, b}_ 4 \ )*{ \\ M__,; o 4 L {a, b} s
\/" !
f={(xy |y—’\2x v X E“Af‘vea] : 7 N f={xy) |y =2x,YXEAY € B)

then ﬁ"d, omain f andl‘:’\ange o : f/’ f/ Sl ST

. L={(dbc) M = {4, Frilfﬂd LxRsy | /,-/ S LXMIM = (4,5)L = {a,b,c},/i ¥
vi. fX=¢andT = Z“‘\then find X nT. | SXNTIT =2 X = Si Y
vii. Define harmonic mean. '\_ \‘\”,:;r IS ETA i
vili. ~Find the arithmetic mean by\}ac/t/ melﬁgd LS it L Sz pecns il

Numibér of heads "4 g 3 4 5 .
Frequency 3 8 5 3 1

. Find the median of the data: 11500, 12400, 15000, 14500, 14800, 16200 LS sty X
4. Write short answers of any six parts from the following: ~ (2x6=12) /2 Febiz A Linge Sl tits 4

i. Define angle of elevation. EF e

. Convert 13?1: rad to degree. _ELrns % rad

(P.T.0) EIN)



Note:
5. (a)

(b)
6.(a)
(b)

7.(a)

(b)

Qm p2~2 Y

Find 6 when l=4cm,r=7cm ;gt{fr,lya
Prove that: Sin36 = sind — sinfcos? 6 St
Define sector of circle. EafSEL
Define circumcircle i Pl in
Define cyclic quadrilateral. NP ANIN 20
Define regular polygon. P S )L
The length of a each side of a regular octagon is 4 cm. Measure i helbsie (’;r&rjb(dﬁ s ¥
its perimeter,
SECTION-I (8x3=24)

Attempt any three questions in alt while Q.No 8 is compulsory: 4.(.5;119,54._\,1( =il S
Solve the equation: 2x* —11x* + 5 B ﬁ\ ¥ EN ¢S
Prove that; 3+y3+22-3xyz = (x+y+z y + mii) (x -i\-\tuzy + wg) k._rr
Find x in the proportion: 8- x( 1\%} 4 fix : 25 — x\\m % )fem{xu%
Resolve into partial fraction: \\, %;4_ 3 (x? T 3 y S o i_.:f‘/.j,?
i : L—{x!xﬁ‘quﬁxES} Mr J"/ye\\?\f\yk\lﬂ} /,,/ i

Then make a relation from 2 to Mo \ B a__tg}:;;M = #’Jj.éé?

Ry £ {(xﬂq-x* 2,k {(x,y‘){{—x}\
Find standard deviation ‘S ’; (,/ \12 6,7,3,15, 10\13 5 ) iSO

Iftan 6 = - am:ne isin quah\’mt i, find thﬁ va‘ues of d*}ﬁl ALY semr?sinfuitan 8 = %fl
other trigo ic functions at @. '1 f / \ S/ r.J*‘;.,E.;ﬂJJuT
Draw two ;ptmdtcuiar gents to a circle of rad ug gcm - /" M,-,r JWEA Ll e Fdin 0
Prove that a strangthe Gmh%f‘r;m the center of a ;:?mﬁ bisect Ul (noppr)ing’ e p Lt S it
a chord (which is not a“!{a“"@m’ perpendlcular I° ebstsd 4 Fack A i S
‘\
\
“(OR) N (L)

Prove that the measure of a centyral gagle of aminorarc of 5. i ca Uit sing Skt
2 circle is double that of the angle-<ubtended by the e e "c""”"_/g'g'
.q;.?n{;rua-dr:ijulﬁ.n/ﬂ;ffpwu:

corresponding major arc. —

Vi

Vil

(b)
(a)8

(b)
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Py =i f.:-ﬁ" JI;'Ji £ Léf:}lf -u:'f = 77;;}?-@4{.2:3 D#sCB

Nm%hmmhﬂ&mﬁummmmmmmm
comesponding circle A, B, C or D given in front of each

Sum of the deviations of the variable X from its mean is always:

answer you consider correct, fill the

11

10,

11.

12.

13.

14.

15.

(A) One £ (8) Zero
2 Cosec 45° =

1
(A) ] (B) V3
Through how many non coliinear points can a circle pass?
(A) 1 (B) 2
A circle has only one:
(A Secant ¥k B Centre
mworammmmmmmmrama

congnmthecsnlra!anghmadebymedmrdmﬂbe‘” S

@ 45° i "

Angle inscribed in a semi circle is:
T

(A) 2 (B} ¥

The number of methods togdive a g s

) ¢ EPERL

Roots of the equation 4:‘2 —sx+2% 2

A fraction in which the degree of the numerator is less than
the degree of the denominator is called:

(A} A proper fraction /2

(C) Anequation =bl-

IfA < B, then A — B is equal to:

(A) AUB (B) A

If number of element in set Ais 3 and in set Bis 2, then
number of binary relations in A X B is:

(A) 28 (8) 2"
The spread of observations in a data set is called:

(A) Quartile2$4z (B) Range =

{C) Two = (D)

© i o, O -

©

LA

Four

gt
Three &
> Cosec 45° =
1
V2
'Ff_hf c.bl"ww 2 Ftts
@) 0
L S ] P I o
Chord 7

s LAY &JJJIIM!!;JJLJI!-Q
%-?HQIUIIJL;LJUJJ
B S T
o z
fkﬂ&-}i&f—f{f(&bﬁ-’dﬂu
(D) 1
B vl dx? = 5x+2 =0 2bi

Cinabonal Pt 2 (0)

Equal 212
2p i92cx i.-rg’uﬁpx‘ +gQx+r= Ga.ul.a-ﬂ-uc)'l
—esd ¥
~q -2
7 0) -
3 y? o:;f:-— Ji
(€ y: =x? (D) y? =k’
:.:_,.._.-ﬂﬁffi" ¥y o x*
y* 5
(C) = (D) 7
< s ps SRS S

(8)  Animproper fraction /a4
(D) Inequality =bl-Z
‘e bnsiz A—BisA<B A

(C) B (D) [
:q_Jml.JJnrth?L AxB ?.-rzgtn;:ISJiﬁJab"JIutA.:{ﬁ

(© 2 (D) o
e b s

(C) Dispersion 5 (D) Average b

17-10-A

-Aupi.f.-lr&_}ir ;£ }I’&!{j" V’Jd:_,f.lﬁﬁ_.lllrrﬁ Ly
A e LUsmlDLCBA

answers A, B, C and D lo each question are given. Which
question with Marker or Pen ink on the answer sheet provided.

AN pra Al Lok Py 11

2

A4

A5
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Time: 2:10 hours (GROUP-)) Marks : 60
SECTION-| Jio
2. Write short answers of any six parts from the following: ~ (26=12) 7/ /el P Lamga dilditn 2
i. Define quadratic equation: i ffabod

ii. Solve: 24+ 2x-2=0 2Ly i
iii. Write in standard form: (x+7(x-3)=-7 A 2P S ipe i
iv. .Fmd tllfle nature of the roots of the 324+ 7x—13 =0 Jdv

equation

v. Evaluate: w3 4 w7 | R
vi. Without solving, find the sum and J,f" 255 zu., ‘_,- LJ' ; .__,#.J Jb PR

product of the roots of the pxt—qx+r=0 ¥
‘equation: . e
vii. Define proportion: F hi £ y7 Vi
vill. 1fR T2 andR =8whenT = 3,find RwhenT = 6 . 3R =8iR T2 i
ix. Find a third proportion to 6, 12: ' SO 6,12 5&.- n—*b-' PR
3. Write short answers of any six pah#i!mlfm 1 - 4 2 .;&zr{gdf‘;.,tmn 3

i, Whatare partial fractions? ' ‘ B te /i Gz -

ii. Convert into proper fractions: ' 7% CATN T O
ii. i J S S dii
iv. S v

y—x&pk)

v. If: A=1{2357} S

B ={3,5,8} N
Then find A% | AU Bg{'ﬁ"i
vi. Find a and b, if: L (a-4b-2)=(2,1) :f!ifﬁ" sl Vi
vii. Define geometric mean: 2y 7 S u‘ﬁr il
viii.  Find mode: 4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5,6.5,7 :éf}""" viii
ix. Find arithmetic mean of the data: 45. 60. 74« 58. 65. 63. 49 . e Loy i
4. Write short answers of any six parts from the following: 26=12) ySpfevz P lamgeditdie, 4
i.  Define radian measure of an angle. s Lsila

2r
Convert T into degree. /Q -.-.'fEJJ; Ved; i/ '23E



iii.
iv.
.
vi.
vii.
viii.
ix.

Note:

5. (a)

(b)
6.(a)

(b)
7.(a)
(b)
8.(a)

(b)

Find !,whgn 8= ﬁﬂu 30', r=15mm g = 600 30 r = 15mm & gr,lyi

Measure its perimeter.

Verify that: ':;‘:;s + sinf= cosec 0 SE et
Define obtuse angle: oo g
Define tangent to a circle. il len
Define segment of a circle. G
Define regular poiygon. -é o ,,;Jttl‘:'m ‘5( #r
The length of each side of a regular octagon is 3cm. L/ St tf-—f?éj‘:"tfd" it Pl

SECTION-I

Attempt any thres questions in al while QN0 (y3=
9 is compuisory W3=28)

Solve the equation by completing square.

Prove that:

If

TR

c
==
d

(a,b,c,d, e f,+0)

=im

then show th&t:.

.qf it j:d;i.-

HE g 2 el
1+co 5 2 cosec?® LV

Inscribe acircleina t
|AB| = 5em |BC| =

BC AB L LS a st YABC AL
8 L Fif 0 ﬂl.u;-’yd' CAul
Prove that two chords of a circle'wh:ch are Flsrledifloc S paimd o i S onb
equidistant from the centré, are congruent. At Ji:-*

OR #ﬁi_' &
Prove that any two angles in the same segment _—s o |
of a circle are equal. LL 1N oLty S L 2o ts St

18-10-A

v

Vi
Vil
Viii

X

Wy
(a).5

(b)
(a).6

(b)
(a).7
(b)
(a).8

(b)
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Time: 20 Minutes s (GROUP-II) R\ P Q-2 Marks : 15

izelv LA meﬂ L4802 oo I L osD sl CBAMZE L v 1 KRS 7 E izl ciir i ind
L /;.wn..d’ B IAS I 30 e LU LD C BA

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given, Which

answer you consider correct, fill the comespunding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

1.1

12

13.

14.

15.

The different number of ways to describe a set are: e NPGURI DL SonSor

(A) 1 (B) 2 (EJ/ 3 (D) 4

The set {x/x € W Ax < 101} is: e b {x/x EW Ax < 101} 2r

() Infntesetergtsd (B)  Subseterd  (C)  Nulssterds 0 Finit set st
Ena m«cmmff 2

A data in the form of frequency distribution is called:
() GroupeddatasirssS  (B) Histogram Sdy  (C) ed d

Mean of a variable with simiar observations say constantkis: -+ iebxbih RS S a P LK 2
(A) Negative (* (B) - Positive =t

20° = . = 200
(A) 360 (8) 3600’

Radius of a circle are: V. B IPAP 1]
() Allequal 4. (0)  Halfof any chord & e inf' s’

(B) Ay
; e Gl e

"5{- Centre /

g?;t:rﬁ”_w:Jf(_ﬁblaﬁfsufﬁﬂu.;f /}'Jﬂrjsl.-'r' 4L

(A)

(C) 3 (D) 4
s b ilis® Lo Haid
n T
(©) P (D) i
Two linear W?xi -1 \ c/ 111 Gnknlx? — 15 + 56 =il
A (x~ 711?-:(1 -l_; B) (x+7);(x—-8) ( (x=7k(x—-8 (O &E+7);(x+8)

If o<, B are the rmm 3
the roots of 2cx a g

'_: ‘e arl¥2
{ -q r —q ~2q

— B s C — —
& - ®) : () % o) :
The discriminant of ax?® + bx + ¢ = 0 is: :.;_r,f..ca’J)raxz +bhx+¢c=0ci
( b? — 4ac (B) —b? + 4ac (C) b% + 4ac (D) —b? - 4ac

I?oab ais called e Fifalah =
( Relation ()  Antecedent/. ¥  (C) Consequentiiss» (D)  Proportion —&

The fourth proportional W of x: y :: v: w is: e UZL X1y 5 VW
xy X
Q = ® xyv {5/ 2 o) =
. N(x) z
A function of form £ (x) = Df"} with D(x) # 0, where N(x) ZD(x) # 0 Lt ¥~ f(x) = :(f*; J6
N(x)and D(x)are polynomials in x is called: AT DE)

(A)  An identity =L\ ( An equation =ist»  (C) Aninequation =i+ Z (D) A fraction ./

x + r = 0 then sum of _}Jizoc_,;u#uﬂ_,_)cs pxz+qx+r=0.,-_.t;|,-ﬁ.acﬁ :

11

2

A2

A3

14

A5



Roll No to be filled in by the candidate SSC-(P-II)-A/2023 . .
_ - . s S L) $Ls
Mathematics (Science Group) (Subjective) (For All Sessions) <Ny -
Time: 2:10 hours (GROUP-II) Q w P ~)~23 Marks:60
SECTION-I Jito
2. Write short answers of any six parts from the following:  (2x6=12) LI iz lange dfbdies 2
i. Solve by factorization: 2 —x=20=0 B Sf 2
ii. Solve the equation by using the 522+ Bx4+1=0 e JerfiGunfeite i
quadratic formula:
iii. Define quadratic equation. It T TN P
iv.  Find the discriminant of the given 2 e 2o ety WV
quadratic equation: el al
v.  Evaluate: ' 1-w- 2
vi.  Without solving, find the sum and blsk 2L F S tbannn Vi
product of the roots of the - 5x+3=0 ) oL
quadratic equation: : =l
vii.  If3(4x — 5y) = 2x — 7y find the ratio —5y) = 2x—7y/i Vi
viii. IfR®T? andR =8whenT = 3,find R R=8sR o T2 ji wii
iX. Find a third proportion to 6, ; 12 A X
3. Write short answers of an Febz @ Lange i tdts 3
Lo If 5
X =yZek]
ii. Define it i
iii. Resol ,_.-‘_;:;I-I:- s, xz +x+1 ::’{J;Uf/-.ﬁ’b;/ dii
o x2 45 '
iv. Ify ={-2,1,2} then ol Ay x —{-2121/ v
relations fory x y. &8 3 Sendiery X yuy = (2,12
v.  Find the sets x and yif: = {(a,a), (b, a), (¢, ), (d, @)} S Sty Y
vii IfA=NandB= -':-jii-'“:""':: f#he value of B — A. -LM’}""JJB ~AIB=WusA=N/ i
vii.  Define geometric mean. ey 7 SongsB i
v nelerinmeticmeanbydiet  200.225.350.375.270.320.290  (Hhadre gbbiy il
iX.  On 5 term tests in mathematics, a student has . is ; ) :
) 1 ir b bt 1 i
made marks 82, 93, 86, 92, 79. Find the median "J‘d‘fu ‘qt;"fﬁuf/éi;ﬁﬁ'k X
of the marks: U 0 Lot 282,93, 86,92, 79
4. Wite short answers of any six parts from the following:  (2x6=12) U1z B Lz ¥ e$ftdit, 4
I What is sexagesimal syst -
sexagesimal system of measurement of ¢ Q-LJ?WJH Ch [_uiwu!,,} |

angles?



Note:
5. (a)
(b)

6.(a)

(b)

7.(a)

(b)
8.(a)
(b)

Convert %intc degree. J? ‘-JJO ~2—273 _gfiigﬁdfiffﬁg

Find [, when 8 = 180°, r = 49cm 8 =180%, r = 4.9cm 2Z r# |
Verify that: ﬂt’;ﬂs—e =1+tané :J’_é_-»;l.“
Cosl
Define right angle- S
Define scant of a circle. -a’-:..,y /'" Seesleins
Define chord of a circle. iRl
Draw a circle of radius 5cm passing through 25 St < B AL L il 2 6
points A and B, 6cm apart. A
Define circumscribed circle. YNy
| SECTION-II : '_
Attempt any three questions in all while Q.No 4 . : S Femrlavrd J
9 is compulsory ’
Solve the equation by completing square; Sl pif et
Find the value of K, if the roots u:i..:b:ujuf..:.i.rl#/rl
of the equation are equal: _ ; "‘-75-'[’ 38K
fa:b = c:d,(abcd N, |~ 88 (a,bc,d #0),a:b=c:d/
Resolve into partial fraction: & s S LSz
If: i
u={ U={1,2,3,4,5,6,7,8,9, 10},

A={1: 31 5: 7, 9} »l B={2: 3r 5, ?}
(AUB) = A NB' SZEat7

Find standard deviation * | 93882980918 S A1
Verify the identity: tand + cot@ = secl cosect et
Circumscribe a circle about an equivalent triangle SE° 2 L1 B e tuaits FEYABCELL oY ol
ABC with each side of length 4 cm. _,,(4&:;
Prove that if two chords of a circle are congruent Sloa S puiunf FimlemhSgd e
then they will be equidistant from the centers. Lyn i
OR L
Prove that the measure of a central angle of a N3 S S psdes EJ;L;,__;,,,{ JEE ok

minor arc of a circle is double that of the angle

subtended by the corresponding major arc. g Entle i Lodui s i

20-10-A-

Vi
Vil

.viii

X

(a).5

(b)
(a).6

(b)

(a).7

(b)
(a).8
(b)
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S5.8.C- (Part-11)-A- 2022

( For all sessions )

L

|ROH Nao. Paper Code 7 1 S_T 1

Mathematics (Science Group)(Objective Type) Graup-[-.._.df (d"!f’)(-.;-,!/f(.«’::(f)u‘ lu'
Marks: 15 ° fwaZ-Q{-JJ. Time: 20 Minutes 2+20:=3s 15+

V:ﬂ‘-‘-._-..m_;Tf.__,rguf’-‘,_g.{é..;n.ur,{:,B,A..:.,giﬁ,;ﬁ,?zijjm o LN L A TSy
U [ﬁg.Jpr';g)JL,L}b:awc_ucu,;u&D L CB: A :zz.ui,?diru'lﬂé&_}m
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

B R A

s ;
e S AP L]

1.1. An equation of the form 2x* —3x* + 7x? —=3x+2 =0 is called:
(A) Reciprocal equation _-.-st—'J:‘:’
{C)} Exponential equation ..::hL-«-JLL-.;

2. &, aretheroots of 7x* —x+4=0then @B is: e @B IUn L Tx® —x+4=0ehi-B.@ Ji 2
-] 4 -5 -4
il ®) 5 © 3 © —
3. The nature of roots of equation ax” + bx + ¢ = 0 is determined by: _.f.lrif-_l.fr;h')‘i'fl,ii&f,,ﬁ, ax® +bx+c=0cb 3
{A) Sum of roots 6.0

3 (B) Product of roots b6
(C) Synthetic division (<>

(D) Discriminant 4403/
4. In proportion a:b::c:d, a and d are called: _ Y Ll-.fdmauﬂa:b::c:d..__.rb' 4
(A) Means o (B) Extremes ¢/

O 2x* -3 + 7 ~3x+2 =0 =bl- 1.1
* (B) Radical equation =li~(5.b
(D) Noneof these  &e !

zai
7
=

(C) Third pmpg_@ﬁggiyalff' (©) None 04

(0)

5. The fourth proportional w, of X -V V- W jg: o A Wb XYV W g
o L L x
(A) ®) 7, » lf)]}av ®
6. The identity (5x+4)> = 25x> +40x +16 is true _?}'\{;ﬁ:‘-_wj,g_g:__“ (5x+4)" =25x* +40x+16 i1 6
- —~r 0 -
(A) One value of X z’-’_ﬁa.-é...gxfx <o) (B) wovaluesof x 2Lyt x
(C) three values of X é.’.ﬁu?:’;;f:f x \r,\\ O\ (D) all values of x é..f.uif"i?(f x .
7. A collection of well defined objects is edlled’ LA GBI 7
(A) sub set --:'Cf? (B) pm\%fgét sl (C) set or (D) superset .r/
8. If A< B then AU B is equal tor etz AUBI AC B/ 8
(A) A (B) @ (C) B (D) None 3
9. A histogram is a set of adjacent: .Jﬂ".‘:.,;rf._‘:"'ol ¥ .9
(A) Rectangles KU (B) Squares ¥u#, (C) Triangles K’uf—""’ (D) Circles §Usrh
10. Mean is affected by change in: ~e bt e & S s bl 10
(A) orgin &'/t (B) value s (C) ratio = (D) proportion w—t
11. secfcotf=............ sec@cotd=......onnn .11
: sin#
(m) sl g 8) cos@ (© sin@ (©) cosé
12. A chord passing through the centre of circle is called: —c:_fllfcsﬂijJf::- :{«C; 7y 12
(A) Radius Ut (B) Diameter - (C) Circumference A (D) Secant L
13. In the adjacent figure. Find semi circular area if % S soaist flns 13
7 =3.1416 and mOA = 20cm - \ mOA = 20cm <7 =3.1416
A ) B
(A) T, 62.83 sq cm (B) (Cr 31416sqcm  (C) Ty 436.20 sq cm (D) T, 628.32 sqcm
14. The semi circumference and the diameter of a circle both subtend a central angle of: S Ui ias sl e 21 14
=0 AR =20
(A) 360° (8) 270° (C) 180° (D) 90°
15. How many common tangents can be drawn for two disjoint circles? E‘U_';ZEl_:.;_""f ,“I.-’..Jf,‘-ﬁ‘gi JrA ;,‘f’ B2 15
(&) 1 B) 2 (€ 3 @4
K 17-10.A57-



8.5.C - (Part-II} -A-20232

Roll No. Y l ( For all sessions )
’ Grou p-l—..;.-:/
Mathematics (Science Group)(Essay Type) = * - (JLﬂr)(..,ufu'*’L—)U" {
Marks: 60 pr'qf'» Time:2:10 Hours 52:101:33 60: ~
Section -I 2x18=36 J,Hdba -k
2. Write short answers of any six parts from the following.  2x8=12 AL g e S St
i. Solve by factorization: v x*=-x~20=0 -élr.f’df:‘.;u; i
il. Write the names of the methods for solving a quadratic equation. _u."?‘tz:u;"-.i PLE T oG i

iii. Solve: V3x+18 = x SN 3x+18 =x i

Iv. Find the discriminant of a given quadratic equation. ~ 2x* —7x+1=0 LIS s els v
v. Without solving, find the sum and product of the roots __.-;gé:"".,,ﬁ}"bumf BV S v
AS)
of the equation. 7% = Smx4+9n=0/0) <
Pt

vi. Write the quadratic equation having the roots 1.5. o\gj _\*-. ..gu.:..bl#ﬁ;mdlﬂ,ﬁuju vi

vii. #3(4x-5y)=2x-7y findthe ratio X:¥. . ()" L XY 2333 (4x-5y) = 26Ty i i
— bt
) ",;\‘_/\," o

viii. Find a third proportional. (x+ y]’\,’?o" -xy—2y* g @FP..,A—:,-: viii
ix. Define ratio and give an example. Q“ ;J v if?dlf—-..ﬁ;ﬁ’q@ig Pber i

3. Write short answers of any six parts from the following. ~ 2x6=12 LS fele P iz e (e )it 3

~)

i. What are partial fractions? S Onlor 65z i
i. Resolve into partial fractions. (x _-:;(lxl_'_ 3) _é‘:k[’:}:u: 607 i
iii. Define one-one function. L@ G i
iv. If X={1,4,7,9} and Y={2,4,5 9} then find Y ) X . _é_éf*# YN X 3nY={2,4,59).5X={1,4,7,00/1 iv
v. Find a and b if (2a+5,3)=(7,6-4) Y AT
Vilf X=¢ T=0", thenfind XNT. S XNTmT=0""X=¢ ./ vi

vii. Define a frequency distribution. uéﬁleﬁJr-:” G vi
viii. Find the arithmetic mean for the given set of data: 200,225,350,375,270,320,290 _g:/["}"’jvﬁ;_!{.—’ Lﬁlfefc:_: Vi
ix. Define Median. _.2_,{._.51,;(!._._;&»; ix

4 Write short answers of any six parts from the following.  2x6=12 _//Zf=y2 % i7 gedleutdits 4

.. Define coterminal angles. di . - il --;ﬂ/"(;é__; sUJ:}.!'; l
ii. Convert 225° into radian. &St i 2250 i

P.T.O0 (e Bh-25)



Ul Find 7, when £=4cm 6= "}i radians. qu"""" f=tictnell %tfféi—g’u{*{"w g h
iv. Prove that: : : (1 —sin’ 9-)(1 +tan’ H;) =1 - ...'—%{._-.r,s i
v. ‘Define acute angle.. ETEAE ST 7 < TR A R FS . TE._.-{-..@/;J;:I}“L» v
vi. Define secant of a circle.. . T ; ' ;4:.&}&5/5655.5}!: Vi
/ii. Define chord of the circle. : - T - 2. _z.-;,if_g,istzia}u vii
Jii. Define eacribed circle, ' £ == ¥ ) -%(u.éfj"’-&}bq'@ Viii
ix. The length of the side of a regular pentagon is Scm what is its perimeter? e Lbb1e SO TL ULl ix
Section -II 8x3=24 r‘u.-n
Note: Attempt three questions in all while Q:No.9 is compulsory: < ($i18 /dlrﬁdfvfubméuﬂlrudgf or
(a) Solve the equation: ~/x+3 =3x~1 _4:)',( Jx+3=3x-labl- () 5

(b) If @, B are the roots of the equation x* =3x+ 6 =0 .Form ;U.-fujuﬁ X =3x+6=0=b-B.afi (o)

an equation with roots % ’V : ﬁjfy 5 Il?—:.»hl—-";;}ui.ﬂi.:
e o) ﬁ. 2 )’
(a) If 'S' varies directly as U? and invesly as V and S=7 when tU—3,._-v«S=?J:U P Nl e UK s 1 () 8
S\

U=3, V=2. Find the value of 'S’ When U=6 and V=10. f‘““ j JawV=1 UJJIU-Gﬁd’-":}"J J"S"ﬁn\f-z

(™

(b) Resolve into Partial fractions. ’”@“1)?’—' +2) _$(JF¢:/6:2 (L)
(a) IfU={1,2,3,......,20} ,X={1,3,7,9,15,18 29}&% N\ #1X={1,3,7,9,15,18,201U={1,2,3,.......20L.)1 (L) .7

Y={1,3,5,......17 then verify that. & HY =Y (X' .’:',i(.....-i‘;hf"t%{'l 3,5,.....17}
(b) The length of 32 items are given below Find the mean length and wa’dwwa.szdqu 232 (L)

standrad deviation of the distribution. ,g)f-#._;tﬂd;ba,fdp

du Length 20-20 2325 26-28 29-31 32-34

ey Frequency 3 6 12 9 2
(a) Verify that: S;g:g +cos@ =sech S;z:g +cos@=sect _ _r’ef,i( b (U 8
(b) In and around the circle of radius 4cm. Draw a square. wufh Bt il siedemubbe nfl (L)
Prove that: a straight line, drawn from the centre of a circle to bisect a J (:r,.:ﬁ.sz)}s_dr c_}ﬁ}i.;_.fb:f é;.{-.:f.l:
chord ( which is not a diameter) is perpendicular to the chord. . ety Sl s S

OR | L

-

'rove that: any two angles in the same segment of a circle are equal. < sl VR Clstor As a5 L5 12 é_;fr‘:-..;l-.‘
'T.0 18-10-A- - %) o
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8.8.C- (Part-11)-A- 2022

‘ -"-\I

i . [ i B
FRD” i, i ( For all sessions ) | Paper Code | 7 | 1 ‘J 5 |}
Mathematics (Science Grnup){Objectwe Type) Gmup-ll-..,sf (Lj"’f’)(uu'z}'"l/](jp L.
Marks: 15 R,I.IL@-4 Time: 20 Minutes 2#20:=3s 15/

U iy Wzt Z D, CB A_,u;,ﬁéw_q_}lv;d{ffd s’dam‘ ,"‘J.,,J....Us’ﬁ...,ﬂffrh-' Lf

e LS e LUsLD L CBA 5 sz WL Ay S6din
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1. The solution set of the equationdx” —16=0. . e e fEAx? —16 =02t 1.4
(A) {+4) (8) {4} © {2 (0) +2
2. Sum of cube roots of unity is: —é;-ﬂf Kv’I‘J’Ji?f—rd?‘ 2
(A) O (B) 1 (€) -1 (D) 3
3.1f @, Bare the roots of X* —x—1=0 then product A2 Gy AL X = x~1=021- 8.7 f 3
of roots 2@ and 2P s e bt AL L 2B
(A) -2 (B) 2 (C) 4 (D) -4
4. In a proportion a:b::c:d, b and ¢ are called: _u"z_u-r catbtabicidt 4
(A) means 2% (B) extremes ¢/  (C) fourth proportiort \_j.;rb %2 (D) None X0d
5. The third proportion of x* and ¥ is: (¥ e LA Y sl x? 5
y* 242 R\ y*
(A) " /2 B) X'V ®) ~ /s
x+2 VS o x+2
6. Partial fraction of (x+1)( +2) are of the fomfjoﬁ ' -u}dﬁJﬂ-__J/dsZJ(x+1)(x1+2) 6
AN
4, B 4, BxtCY Ax+B _C A, Bx
A i1 x742 ®) s \%\Pf ©  x+1  x*42 @) xi1 X +2
3 . c‘v
7. A collection of well-defined objects is-Galled: ¢t QAT 7
(A) Subset ..‘.._»-5} (B) <Pmﬁer set. Zrsi (C) Set ox (D) Superset -z
8. (4AUB)UC is equal to: e b (AUB)UC 8
) AN(BUC) 1) (4UB)NC ) AU(BUC) ) AN(BNC)
9. Mean is affected by change in: ‘ e bl é,fJ;_--,wL_!u 9
(A) value =d (B) ratic = (C) origin  #UE (D) rate U/
10. The most frequent occuring observation in a data set is called: _4.{.511:&-(.5':2_. I,.,-/ul..u;.,.‘..mi.‘.':b’d" .10
(A) Mode sk (B) Median _:L&-: (C) Harmonic mean Jw!._f-ff (D) arithmatic mean JIL}L-’
1 1 ] 1
11. — = YT A1
l+sin@ 1-sind l+sin@ 1-siné
(A) 2sec’ @ (B) 2cos’ @ (c) sec’d (D) coséd
12. A complete circle is divided into: ISRV A T
(A) 90° (8) 180° (c) 270° (D) 360°
13. A line which has two points in common with a circle is called: _;;;_':l_lffu::_l/ AL L skl A3
(A) Sine of a circle Sineke_ 7 (B) Cosine of a circle Cosinete— 715
(C) Tangent of a circle Tangent . 71> (D) Secant of a circle Secant b 71
14. The length of a chord and the radial segment of a circle are congruent, :.}:‘ujziquHJJU-'-':’?:u:f-:"J-—L_" 14
the centeral angle made by the chord will be: -b’x_.“_-,:,.-'.il_;’}?m.-é
(A) 30° (B) 45° () 60° (D) 75°
15. The tangent and the radius of a circle at the polnt of contact are: -..;-'-----a_/:.--_f'u"b!-':'u"lfff-J;'-' A3

(A) parallel Ji#L  (B) notperpendicular %% (C) perpendicular 4 (D) not parallel &5l
R ie-10a%-



5.5.C- (Part-II) -A-2022

Rall No. e Sotmad o ( For 'a'll 'sessions ) y

'Mathematzcs (Science Grdup){Essay Type} Group—lirusf (dul)(..fsfu"’ Lf)uo L.
Ruf4 Lr P rime:2:10 Hours & 2:10:23s .60

_Marks: 60
Sectmn = SR + 2x18=36 - S
2. Write &hort answers of any six parts from the tollowmg . 2%6=12 Lza{r s M.P/#Lpl?lia.éfguﬁdjca s
X x+1
i. Write the quadratic equation in slandered form. —:f + T =6 -uf’guf fd,rl_,vf.:fbl..-dm: A
' X
- &_f:&ﬁualsl-—‘u&‘" i

ii. Define reciprocal equation.

iii. Solve by factorization: x*=-x-20=0 _q/J’dng,} x'-x—-20=0 i

(9+4w+4wz )3~ _.E__-érc,ip:_‘z W
u:r"‘l";:l"S“ :Jd:(f‘:.’.‘..’a = lslaFass
r:t"' ....,,.r"(_,y l.r):?,.c:i K';_)ju,c” ra LJ' ’ruF:L-»'L;Jm Vi

iv. Evaluate:
v. Write the quadratic equation having roots 1,5.

vi. Without solving, find the sum and product of roots

of quadratic equation. x* —5x+3 =0 .t } xj x*=5x+3=0- c.‘-.{
S
vii. Define ratio and give one example. ,«»\\: a\v% _égf*dﬁ‘_g::’%:i’/"lf.:# Vil
92
3x-2; 14 _,21 +3:7 ﬁ&_,??:"".:.égf X vili

viii. Find the value of Xwhen:
: fﬁ\{\\’

1 o 1
ix. ifJ’“c"J'c‘ andY =4 whenXx = 3ﬁndxwhen o ‘yf 24 Jf_r}vxgeyx=3,éy=4,,ry¢;ﬁ i

w

‘w )
3. Write short answers of any six parts (@11 We following. 2x6=12 vdf_;/’akli/‘gﬁrl?:!g:ﬂés'::.bt Jitn .
QO i
i Define a rational fraction and give ‘an example. _gﬁdﬁ-.ule_..{.é PSS
_ 3 5
ii. Resolve into partial fractions: M _’cf-:}’-y JJ:"U:Z i
(x+1)(x=3) 3

XUYand XY -a:_i{c#?,eﬁ{z,«a,s,e} X={1,4,7,9)/ i

ey Sy PSS v

_u.‘ﬁufl;"é.‘:gfctdi K,

-&??'J”LxM?ﬂM#d,e,f,g}cLﬂ{a,b.c}fl vi

vii. Find the range for the following weights of students. -%#w(!umu_'szméuﬁ‘_;w 3
110,109,84,89,77,104,74,97,49,59,103,62

iii. 1f X={1,4,7,9}, Y={2.4,5,9} then find.
iv. Define an onto function and give an example.
v. Write De Morgens laws.

vi. If L={a,b,c},M={d,e,f,g} then find LxM.
ii

=

3Gl i

viii. Define Arithmatic Mean:

ix. The sugar contents for a random sample of 6 pacts of juices of 2 NS SEL VRl Ul P ix
certain brand are found to be in mili gram. Find the median. _J)?:"”,-tben;.oﬁLJ:Lu;,Curst
[}ﬂ\ 2327725293119
(e-Uke-213)

P.T.O



4- Write short answers of any six parts frﬁm the fcﬂ;:uiilni, 2x6=12 —LE’:’);H‘*W/‘?LP'I‘{#é;;-LﬁJi&JJ 4

" i Simplify expression 1—c0s” X to a single trigonometric funciton. _z;e{ﬁjuﬁél_;f,gﬁf;?%’ 1-cos? x Jz j

i. Convert —150° to radian. _ ST _é:,t,m:ugg.;f -150° i
iil. Find 7 when{=52cm,0=45" & : f:SZcm;6=4.5°.ﬁ$F#?’ i,
iv. Define angle. Ay Y
v. Define projection. . ..é..ajfd;-vggﬁ N
vi. Define secant. -ng’_gfgfbﬁ F v
vii. Define chord of a circle. _Z::.‘i'-r..éj PEAL et il
viii. Define diameter. _.':_rl’-(._égﬁlf,ﬁ viii
ix. What is meant by vertex? el ix

Section -1I 8x3=24 (922>

Note: Attempt three questions in all while Q:No.9 is compulsory: _;_;5)ﬂs;?dlr,gq&}.-.,ygé.:,uwf&.:.}
x=a x+a T 8\
=73\2) -4:)"[.:,:»‘ () 5

x+a x—-a P
(b) Find P if the roots of the equationx” —x + p* =Odiffer L —x+p’ = O:ﬂ:}uﬁaﬁ')ﬂ:&f P (W)

5. (a) Solve the equation:

A5 N
by unity. I AOIEE
a «c e ‘;:\\Q},hj a_ ¢ e :
6. (a) Ez}‘(“’b"’idﬂ‘-ﬁf #0)then shnw\ﬂ'laj(a i Y ?(a,b,c,d,e,f #0) i ()
2 g 'E'.\"'.. <}\\‘
ac+ce+ea _| ace 7 R | ac+ce+ea _| ace %
bd+df+ o | bdf | U bd+df + fb | bdf
SN g 3x+7 : ) :
(b) Resolve into Partial fractions. ( X+ 3)( x2 _,_4) _;_ff‘}.:"[;;/ Gz ()
7. (a) f U={1,2,34,.......10} ,A={1,3,5,7,8}, and »sIA={1,3,5,7,9}-U={1 ,2,3,4,.‘...“10})7 () .7
B={1.4,7,10},then verify that: (B- ,4)’. =B'UA _fe_{..-f,ﬁ,fam{1.4,711n}
(b} Find the standard deviation "S" for the data. 9,3,8/8,989,18 _éfFJ” "S“...iiflq_ﬁxy-b’-mifé:a_-: ()

' I+cos@ sin& 5
8. (a) Verify the identity: A ’ = -a}r_-.a.v..-.‘k v () .8

1-cos@ 1—cos@
(b) In and around the circle of radius 3.5 cm draw a regular hexagon. L b B L e (35U L ()

9, Prove that: perpedicular from the centre of a circle on a chord bisects it. JFM,;EJJ( .;:.}Cf:ﬁc.. M T 4(.;.*.‘ 9
OR -} et/

Prove that:.the opposite angles of any quadrilateral inscribed in A,J[J..Lri-i_:i}'gds}h&_ };:gf?.f' é:v_‘e
4 circle are supplementary. BT frme s o ® -L,EL!:;’,.:'M/"{"(

PTO 20-10-A-_____ > " § )



Roll No.JJUg 6” <Soinet|  ( For all sessions ) PaperCode | 7 | 1 | 9 | 1 l

Group-l—.,;d/ .
Mathematics (Science Group)(Objective Type) Joeo P 41-2/ (u'fsf')(..,..,fu‘"'v)(f (Y,
Time: 20 Minutes &#20:=3 154

Marks: 15
At ey Vo lp o £E9D,.CBAMZL e Sy HdnE el sty isd
U A BLdefl e Mawe SpMLD | CBA szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
gach question with Marker or pen ink on the answer sheet provided.
e Urbian A4

1.1. The quadratic formula is:
~bt+b’ —4ac b+b* —dac —b++/b* +4ac ) _bim

= x= = =
(A) X 2a (B) 74 (€) 2 X 2a

-;F_lefspﬁ;jfﬁdm 2

2. Sum of the cube roots of unity is:

(A) 1 (& -1 ©) o ®) 3
1 1 1 1
3. E+Eisequai to: -.;_zixE+E 3
1 1 @~ K a+
&) ® 5 7 © o5 b p

4. Find x in proportion 4:x::5:15. -é:;ﬂf*:*""‘ﬁfli-’f?‘-ﬁ:w € 4

7 4 3 &

(A) (B) 3 © 3 ﬂ?@.\) (D) 12

5. Ina proportion . 4. -4  @@nd d are calied: fg{'\\hg’_{'z_wfd;,:aud a:bic:d £ 5
(A) means %3 (é]/!;}l ké}\—d’-’)
(C) third proportion e (Q}r;}fc\) F}ai’oportion e VEZ

6. The identity (5x+4)" =25x% +40x+16 is /}(‘y’f;}—‘j § x (5x+4) =25x" +40x +16 L1 6
true for valuefvalues of * . _ c“c:fq’/v ﬁ,;.,.:m:é'_[.uﬁfayf ______
[(} one ki (B) two @&f (€) all v (D) four b

7. Power set of an empty set is: P Nrj“}“ﬁ _.;..L':f.:fJ:E'a’.L;-dl.; i
(k¢ @}“‘;] (© 14} o {¢}

8. Point (-1, 4) lies in the quadrant. e bt i1, 4)5 8
(A) 1 B) 1 (C) I & v

9. A data in the form of freguency distribution is called: *.T.an,-f:r,»-ur:f&:‘fj,,.ﬁ 5

(k{érouped data ﬂnﬁ:f (B) Ungrouped data :i:’ds:f;f

(C) Histogram  S3J¥ (D) Sum =+

10. The most frequent occurring observation in data set is called: _.T_dlir.fmdu'al'..:ﬁ:l;}c...,.r;ﬁ;lrf 10

(A) mean kil (é{- mode wk (C) median b3 (D) average kel
11. cosec’@—cot’ @ =...c..... cosec’d—cot’ @ = ..o 1
(A) -1 [é()‘u () 1 {ﬂf/ tan @

12. Radii of a circle are: LSl S Ll 12
(A) all unequal 4LtV (B) double of the diameter L=
(©) Halfof any chord &7 infls” (B all equal sl

13 A line which has two points in common with a circle is called: *VELMUﬂJF)Lﬁsﬁvﬁc_fbﬁu’fﬁ.ﬁ 13

(A) sine of a circle . sin et (B) secantofacircle , secant b 4l

(@1 tangent of a circle , tangent e 2l
14. A semi circumference and the diameter of a circle

(D) cosine of acircle , cosine b S
-cl..t‘ﬁ.._-_-f.!l.iulj{:‘ Ku;u/":":.’/-c._}f}ufhf._iﬂid:;_}b 14

both subtend a central angle of:

(Af 180° (B) 270° (c) 360° (D) 90°
15. Angle inscribed in a semi-circle is: _‘L_bxf_,,l}}!‘;u_'g_}u_jﬁ'r 15
T

I - n
2 e m r—— my —



; 5.5.C - (Pari-IT) -A-2021

Roll No. i Bt ( For all sessions )
Grou p-I—a._.r.«sf :
Mathematics (Science Group)(Essay Type) . Rwp- -2/ (,ﬁt‘-ii)(f,/u"b)d' EJ

Marks: 60 Time:2:10 Hours &£ 2:10:2% 60: 7
Section -1 2x18=36 Jii.fp
2. Write short answers of any six parts from the following. 2x6=12 s_{ E.l?/’zpl?lic.éfa_utd';cm 2
i. Define quadratic equation. ﬂ.a_{._éjfd_-ﬁ:vd.;m A
1 1
i Witta | e =3 o o Bt i
ii. Write in standard form. Al e -cfgbﬁdﬁd;i;w...,r:v i

1Y 9 1Y 9
. L E " Ipm— | =2
i. Solve: ( X 2) r -cf—:ﬂr[ X 2] P il

iv. Discuss the nature of the roots of the quadratic eguation. 2x* -7x+3=0 _'qf(.f..i,;rLilquﬁ.;lsvduu v

v. Evaluate: (l —w4+w )& :_/‘ ) _f:_?.'-'l":b’.:-.u"' v
vi. Show that: (x*+y*)=(x+y Qt@f(% w'y) Sk i
vii. Find the value of p, if the ratios 2p+5:3p+4 and 3:4 are eq;f‘h‘f ..u:f.c:'/S 4.,412p+5: 3p+4u"‘7fd'-,:)*’_f L}"P wii
viii. Ifvec R* and v=5 when R=3 find R when v=625. r;‘ ;“}/ -ﬁv=625.ﬁ$;'}"RmR=3..:.-w=5;,f yee R? A i
ix. Find a third proportional to 6,12, g/i’\ > _a:;-‘{f:;[".?.xt;lﬁfﬁjz Jix
3. Write short answers of any six parffts;n}tie following. 2x6=12 _L{&fagiﬁfﬂﬁolm{;é’&.L,Cdjb;: 3
s —
i. Resolve into partial fractions.® Q-. y m&ﬁ ub{fdf”uiu,/dsz A
i. What is an improper fraction? e dull S atd i
i. Find YO T, If YuZts TG Sy /e YOT i
iv. Define a function. -u_‘/._,yj"JJkﬂ v
v, If A=N and B=W then find the value of A-B. : ZF#L..«' J A-BIB=W.siA=NS1 v
vi. Find two binary relations in MxM if: L={a,b,c},M={d,e f.g| N A MM i
vii. Find arithmetic mean by direct method for the set of data. aa_;{,;ﬁ"mtg}u Glve 3 A8 Arbblt it
200,225,350,375,270,320,280
viii. What is a Histogram? ?ug.'{iféﬁdb’ viii
ix. Define Median. _4'..@}@&,1, ix
4- Write short answers of any six parts from the following. 2x6=12 —pf/{f::-'E'ﬂﬁ&flzlﬁﬁ-éﬁr&;}:dﬁja» -4
i. Verify the identity. (1-sin@)(1+sin@)=cos’ b _’q_!{:f.E i

ii. Define an angle. \ _ujf_ng,:U A



LT T S IT Y A
- . = 3

4
1 1

iv. Find 7, when £ =4cm, szradians. E-?:E et s 0 =4em .ﬁg__f/?:“"‘ roiv

v. Define ratio and give one example. HJ;‘JL‘-...@;U}._.-J}‘J...JJ v
vi. f wec lvz and w=2 when v=3, then find w_ _J/?:L"‘Wmv Jows= ZJJIWC’:/ A Vi

vii. Express sexagesimal measures of angle in decimal form: 60°30/30" uﬂdbﬁdy)u‘!_duzf_lhﬁhrb"ﬁﬁv Vi
vili. Ina AABC calculate jy BC when: m AR = 5¢m,mAC = demomiA = 60" Ly Sk mBC L AABC il

% ix. Divide an arc of any length into two equal parts. ug,_{fﬁ.‘?:)iur",:'zs:s';-’;_ptféy&r X
Section -II 8x3=24 (12>
Note: Attempt three questions in all while Q:No.9 is compulsory: .%U}ﬂs/?dlr,éq&fc,Uﬁ.ﬁaﬂlfof_lf:d.-}
5. (a) Solve by completing square. 3x*+7x=0 _hgj’;')’é/f.g;; (_.,,all) 5
(b) Find the value of k , if roots of the equation ;.r:l..-j%:l".;éd/ k()

(3k+2)x* =5(k+1)x+(2k +3)=0 are equal Uil (3k+2)x* ~S(k+1)x+(2k+3)=0
m+5n m+5p

= g__m_fLJLw'_..»-’L}"iJ e () 6

6. (a) Using theorem of componendo-dividendo

5 5 10 e 10
m+5n m+5p np np
+ fm=
ikl L L o o ol M\/ H+P,f5c{,1v....a
P - _
(b) Resolve into Partial fractions. & A jj(x 2) _q’ffuﬁm’dsz ()
7.(a) IfU={1,2,34,56.7,8,9,10} A={1,3,5.7}, and @ '\‘F’"?@f"v #A=(1,3579}U=(123,45678810)/1 (L) 7
B={2,3,5,7,9).then verify that. gfﬁgf LUB ek B={2,35.7)
(b) Find the standard deviation "S". ﬁi\ B‘“ 9.3,88980918 _%P"S".Jff'ld;gv ()
o C““’ sinf+cosé  cos’ O St
8. (a) Verify identity: tan’ @ —] sinf@—cos @ el (L) 8
(b) Draw two equal circles of each radius 2.4cm. If the distance Spl e Adslnd 2.4 (L)

between their centres is 6cm, then draw their transverse tanngent, . _-.-"'Jm.af?-f"“.:..-im?.rr;" 5.5.14&&5._&:{

9. Prove that: a straight line, drawn from the centre of a circle to bisect a i ( n,-,b?.-z}u{;.?}ir_}lea_?;f_e .9

chord ( which is not a diameter) is perpendicular to the chord. -& bm:f{}ss.ﬁ,;uh"'ur;.';f
OR L

Prove that: in any triangle, the square on the side opposite to acute angle (‘j-,f's’-“""U E-"»;Z_,:Uulpu::.lidf-fé;ﬁ

is equal to sum of the squares on the sides containing that acute angle o’:”:" 3 r_f..f‘._ur*’/éi,wudt

diminished by twice the rectangle contained by one of those sides and the  Lie. J%Z:;/:J{JUS'-@C_JCHF’UJUT

projection on it of the other. e t‘:r_-.nuL.:?

18-10-A-



W 8.5.C - (Part-11)-A- 2021
Roll No._ e Sesitoacit ( For all sessions ) PaperCode | 7 | 1|9 | 8 l

Graup—II-u:/
Mathematics (Science Group)(Objective Type) ewP. 61—:,/(;;'/)(.1.,,/u*v)f L,

Marks: 15 Time: 20 Minutes 2420058 15/’2
A gbdirast e Yozt L& 5Ds CB AR bc’:JirqugL&E'diif/"U%JuLlidi._.fuir‘rbf o
JJJ,}';.J,;L,JJL/ Ve Zy3he fUsibED L CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,.C &D to
each question are given. Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of
each guestion with Marker or pen ink on the answer sheet provided.

1.1. In a proportion a:b::c:d, "a" and "d" are called: _uj‘LMdJ:iauia:b::c:d?rti 141
(A) means o™ (B) extremes A
(C) third proportion w1~ (D) fourth proportion ——F#z
2. The identity (5x+4)2 =25x" +40x+16 s J—’f¢(5x+4] =25x* +40x+16 20 2
true for valuefvalues of . -‘l;..-..mé_.f_'u;—.."’};f_ _____
(A) one L (B) two 1 (C) three & (D) all (¥
3. A collection of well-defined objects is called: e tARIED 3
(A) Subset -‘-J:J? (B) Powerset <rul (C) Set Z» (D) Emptyset 2l
4. The set {x/xewax<101}is called: _.;..\t'Ufr'{xfxEWAI‘:IGI} 4
(A) Infinite set ex 5654  (B) Subset ox(f (C) Empty set. J{Hg (D) Finite set L8
5. Mean of a variable with similar observations say constant k is: -c,'qtv.;;:_dl-’.é{‘ kot P T a5 ..f'li’,w/"‘if’ 5
(A) negative (& (B) Kitself , kifali {C}fg\%\fb“ (D) one Ll
6. The most frequent occuring observation in a data se&t |54an__|'93') -.T_.J].E;&dbé_ T._:,-ul,)c_.._..r-,_;:,srgf 6
(A) Harmonic mean b7 (B) Mean k-l \;ré) Mode bk (D) Median k-
7 —L—cosac%” = ~§\ (“\C\'\L é—cosecﬂiﬁu S
e mW r J3
A 55 ® (C) ~2 @
8. Right bisector of the chord of\a,éifcle always passes through the. et s RS AL e S B
(A) radius v (B) centre Jr (C) circumference b7 (D) diameter &
9. A circle has only one . P R L b sl 9
(A) centre 7 (B) chord (Cyoradius  Jbs (D) diameter &
10. A 4cm long chord subtends a central angle of 60°. The radial segment e bl K600, b LA 10
of this circle is: 7 S s s
(A) 4571 em (8) Xy<20m (€) <=3 em (D) Xé=4cm
11. Circles having three points in common. —unZ B S e 1
(A) overlapping /1 {B) collinear u”’ r" (C) not coincide e (D) different ¥
12. An equation of the form 2x* —3x + 7x* —3x +2 =0 is called: 0o 2x* =32 +Tx? =3x+2 =0 =bl .12
alan equation: S [ SR .
(A) reciprocal 5™ (B) radical (ke (C) exponential (ii=7 (D) None of these Ui Lt
13. Two square roots of unily are: _ug@/h.i.;mf.f}(l A3
(A) 1w (B) 1,-1 (€ -w,—w (D) ww’
14 1 &, B are the roots of 7x* = x+4=0 then afiis equal to: - sls ap ?uﬁl,fjbé: Tl —x+4=0uiu-0.2 /i 14
-1 7 4 )
(A = ® © 3 © =
15 1f a:b=x'y  then alternando property is: -c‘-_—,-;Ul,g.!;'ﬁ aib=x :yﬁ .15
E___b_ a_x a+b _x+y a=-b x-y
A x B p © » oy D p»

19-10-A-Fr ¥ Yo ofe-



S.8.C- (Parf 1) A 2!32.!'

Roll No. e S ( For all sessions )
Grnup—]l—.....uf

Mathematics (Science Gmup){Essay Type) Ruwp. 42-2/ (;E—"’)(n;d):}::(r)‘f |,

Marks: 60 Time:2:10 Hours & 2:10:=3 60: &
Section -I 2x18=36 Jii.b
2. Write short answers of any six parts from the following. 2x6=12 _q&fagf::/ﬂé;rm.;:.&i-_bﬁij&,» 2
I. Solve the equation by using quadratic formula. 2—xt=Tx -éé_.-_,l’.—_dbi‘ii UG amsfahls i
i. Solve: x'+2x-2=0 -::_,{J" i
iii. Define quadratic equation. -’q!g_.&_f,’-'JalsL—'&m: il
iv. Write the quadratic equation having roots 3+ V2 ,3- V2, g3t V2 ,3-\2 u%_e[_u”-éﬁq.-,hb—-dm: v
v. Evaluate: W+ w41 . _4;}”.:‘.5 v
vi. Discuss the nature of the roots of the equation. 2% = Tx+ 3».- i, 2 _éz—..f..;rl,irtfﬁjic,uu i
vii. If the ratios 3x+1:6+4x and 25 are equal. Find the vlauagsf\'-\’/ﬁ Ursl22:53x+1:6+4x U2 vii
f\‘"\) . .
- = X
1 ol \_/ é;')b"_..-é(f ]’J
viii. @oec b—and a=3 when b=4, find "a" when b= B \ \{\’ -ﬁb=8.?¥%"”"a"q.4b=4u_._aa=3ma MF viii
- \./ 2 . x __y a
ix. Find a mean proportional between. N HVG AL STE ot _’q_?r(-':b"..,.-'lf'-*dhrs i
N\ A . .
3. Write short answers of any six pm’ts from the following. 2x6=12 -..L/_r):’fh"dJg'ffgérizln:a.-dff_.btdjbﬂ 3
*\_‘\':‘"- X 5 .
i. Resolve into partial fractions. "—_'_'27;3 -égfyuf.rfrd’z i
i. What is proper fraction? te dnrt Al i
iii. State De Morgon's laws. SIS i
iv. Find B— A, If: A= NS=W ﬁé;;b’ B—A4 .iv
v. Write all the subsets of the set [ﬂ,b} : -uf-‘-"‘{-'-.‘:‘l-ﬁ‘uz-{asb} — v
vi. Find "a" and "b" if: (3-2a,b-1)=(a-17,2b+5) N a_-,i[(-#.:.fd' bala vi
vii. Name two measures of central tendency. _uf’f*téuig_,uﬁul?-;d}r/ il
viii. Find the arithmetic mean of data. 200,225,350,375,270,320.29C _u:.f',;:'-"‘hﬂlg__&ub’;'r‘ il
ix. Define standard deviation. A PSS S i
4- Write short answers of any six parts from the following. 2x6=12 -L,:)}fayz;‘ﬁ.tz#g.—_d&.gdiau -4
9 . - . _9 .
i. Find tan @ when cos@ = H and terminal side _%ﬁ-" tan @ Jy = Eud Lol 8 sico80 = 4—1 A

of the angle & is in fourth quadrant.



© Rwp.gy.a

i How many minutes are there in two right angle?

‘.'L,EL.-:J‘:"'ZJQ:;JLP":?F» i

_‘7?1" - # "?-’T
iii. Convert radians fo degrees. -SASERE s b S i
iv. Define inverse variation. ..c'.i'-:g/-"JJ.-“"‘,c'—" v
v. Find x if 6:x::3:5. AL 236 20350 o
vi. In a triangle ABC, measure the length of projection of 4 upon BC rduy AC S BC UL AABC i
— — — =
mAC =17em, mBC =2 lem,mAB =10cm g S
vii. Divide an arc of any length into four equal parts. _L_,:;ﬁitur“’.cim;:'&f_ﬁgfdygj Vii
viii. Prove that: (I-sin’(¥](l+tan’€)=! ek vii
ix. What is the circular measure of the angle between the hands of '._,:i;‘,)fjjg:',ds;bu,l._miufrJd)-':f.'.__a Jix
the watch at 3 O'clock. fetwld
Section -IT 8x3=24 (112
Note: Attempt three questions in alf While Q:No.9 is compulsory: _¢ tx"drr.ﬁqéf;glzﬁawmff.;i
o) .
3. (a) Solve by completing square. Tad 4 2/.;:17\‘ =1 -qfd’cifdf.:u.} () s
L.\#g.‘.::l‘_ .'w 2
(b) Prove that: x']+y3+z3-31yz=(x+y+|’z WW* w""zJ(x+ wiy+ wz) _a_-g,;,_g ()
ba -;ﬁ(ﬁ '.;3'/' o- 5d
. = . - — # = L8, 8, : Ay : & i
6. (a) i a:b=c:d(a,b,c,d = 0) then show that:‘_ﬁn-:@gb 6c+5d ;,-/-’-_'ri';qi-‘f(a-f?- cd=0)a:b=c d () 6
2 \\ é}f 1 _
(b) Resolve into Partial fractions, R\ (< <1)(x+1) SIS (L)
LA
)
7. (@) 1fU=(1234, .. .10 .A={1.3{5_§§}. and AA=(13.57.91U=(1234,. .. 1051 (L) 7
B={1,4,7,10},then verify that- A-B= AMNA Sz =t B={1,4,7,10)
(b) The salaries of five teachers (in Rupees) are as follows: ..ufd&(u.‘.'e?_ u)g_,gf;"?&fwéy_}:ufj ()
Find the standard deviation 11500.12400,15000, 14500 14800 -e_.-.i‘;:"’...jiﬁd;im
sin@+ cos @ cos’ g
8. (a) Verify: =~ Ak (L) 8
v tan’ - sinf-cos @ =
(b) Draw circle which touches both the arms of angle 60°. L AU NUIE L 1360°L & s, (L)
9. Prove that: any two angles in the same segment of a circle are equal rUKgf!Lf:a}'Jﬂ;ﬁupﬂé.JUIfa_,@;qb‘ 9
OR L Ul sl
Prove that: If two arcs of a circle(or of congruent circles) are e fs.-ﬁu:a}hu?uﬁguu’bu"‘l.?m:f %;,E
congruent, then the corresponding chords are equal. L se LU HL Ui dum S

20-10-A-
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YAR Ak kg
Roll No. e /ufid

PaperCode | 7 | 1 [ 9 |7

( For all sessions )

Grou p-l.(.-/

»

Mathematics (Science Group)(Objective Type) (ui',,w)(.r,fu-'-’p)g‘ 'l‘ J
Marks: 15 Time: 20 Minutes 220:3 15,4
A d8dn s aeng TR pLiiD CBANR DL vy 41"‘ S Senl e

i ..{:__'_né,.}’u_ﬁi J':u,(___flgjh?c,bﬁu;flni‘:.{) L CBA e
NOTE: Write answers to the questions on objeclive answer sheet provided. Four possible answers AB.C & D to
each question are given Which answer you consider correct, fill the correspending circle A,B C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1 A collection of well defined objects is called: e f'rllr:nf (1 __l;f s 1.1

(A) Empty set  2rds (B) Powerset (C) Subset .:.;—G‘a (D) Set -=or
2 The number of different ways lo describe a setis: e MISURAIILL Suir 2
(A) 3 (8) 2 (€ 1 (D) 4
3. A grouped frequency table is also called: :{_i'li:;'i.-,-;,,‘.-.u-;&u( 3
(A) data ¥ (B) frequency distribution = s
(C) frequency polygon L (D) square &
4. Mean is affected by change in : e bt e & I¥ bl 4
(A) Value =4 (B) ratio = (©) origin #uE .~ (D) Place i
- (O
T <Q\::,~’ T
5 7 redians=. D% < =iy 5
g e c 190{\"&\¢ D) 30°
(A) 115 (B) 135 ( 1%3\ (0) , )
6. Radgii of a circle are: ; ﬂ ’ Bl Skl B
(A) All equal 2147V “double of the diameter &rc 4
i JZAN L
(C) All unequal 4l Arl »5\@/ (D) Half of any chord &7 2%
7 A line which nas only one point in COMMAT \é{g i TP L AL L T
circle is called of a circle! {\i e 108 ¥
g -
{A) Sine g&/ ne (C) langent (D) secant
\ . .
8 A 4cm long chord subtends acentral angle of 60° The radial (7RG R W 4 60“.;}?}1.1';-\3;#' 4.4 8
segment of this circle is: e S
(A} 1cm (B} 2cm (C) 3cm {D} 4cm
g The circumference of circle is called e Ciasfe s 9
(A) chord 7 (B) segment =+ (C}. boundary = »/ (D) tangent W
10 Standard form of quadratic equation is: e Fedatiogan 10
(A) bx+c=0,h#0 (B) ax’+bx+c=0,a=0 (C) ax’=bx.az0 (D) ax*=0,a%0
11. The roots of equation 4x%-5x+2=0 are :Ug;,%,-.;’.-u? Ex+2=0=l~ 11
(A) Irrational  J&4 (B) Imaginary ¢4 (C) Rational % (D) Real &
I 1 N |
12. ;;"'ﬁ is equal to. kg g 12
| [ a—fi a+p
- B) ——— gy 1)
(A ® "7 (C) o ) aff |
13. In a ratio xy, y is called: ekl yAxyesr 13
(A) Relation J”‘T (B) Antecedent H-JJ:: (C) Consequent Ads: (D) Means o
- 2P
14, th:’T'V?.lhEI“r. AUy s 14
# 'z -
(A) U=V (B) U=KV' (€) UV=K (D) UV'=1
:‘L.{r{x+3}z=x’+ﬁx+9 15

15 (x+3)'=x’+6x+9is.
(A) A linear equation BN 7 4
(C) An identity =L

=l

T
A

(B) An equation
(D) A constant term

17 4n.A_TrveYrir-57000
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S8 (Part-il) -A-2o2p

Roll No. RN 1% ( For all sessions )
Group-l-u:f
k4
Mathematlcs (Science Group) (Essay Type) (Z& )(u!fu‘b‘) U‘LJ
Marks: 60 Time:2:10 Hours &'2:10::.‘5: 60:
Section -1 2x18=36 Jil o
2. Write short answers of any six parts from the following. 2x6=12 dg_{);'f.allmji?ﬁ(:."zf{c_tjfa.dd_i&ﬂ o
i. Write in standard form. (x+7)(x-3)=-7 -c':."‘rju:.:..gﬂdxgu i
il Define exponential equation. -a;';“"j_.y;"'u'.;.isujbfcj i
: 1, 9
i. Solve @x-2) == &S i
iv. Evaluate o o™+ _ed
i _ (O N ¥ 3 .,- &,
v. Without solving find the sum and the product of the roots )Q? \-_f sl Sl e 58 v
of given quadratic equation. 3x +?x-1\f§ta\’\ -& :'-"_, I
N\ <
vi. Write the quadratic equation having roots -1-7. L\ﬁf\ -;rt.'_,uL.»JJ-u.:_u,; -1 -?{_, i
vii. If 3(4x-5y)=2x-7y, find the ratio x y - ,jfé,éf\;vw _éﬁ*#x:y;fhﬁx-ﬁy}:z:-?y)-' Vil
{“‘CI\\:L" - -
viii. State theorem of componende-dividendo () <>‘~f'/ _&gg.:.g-’,l:";._./f}.tr- il
AN B
ix. Find a fourth proportional i.@:\.? ax" 2% 185" S By ix
3. Write short answers of any six baéts from the foliowinq 2x6=12 ,L{,{_‘rf;. I_.l.e;‘?é.-l:ZIf:..JfL Jitn .3
!‘A _() .|'l =
.. Resolve into partial fractions F® LY 3~ _aﬁ‘-ur."ur:w/d,:a i
(X +1)x—3) e ]
ii. Define a rational fraction and also give its example et A5 R i
iii. 1fx=¢@ and Y=Z" then find: XUY _,:-__ér*'}”}x\'=z'.rsrx:¢; Al
I e ]
w. If A={a,b} and B={c d} then find: AxB - &2 e B={c d}»'A={a b}’ iv
v. Define a function: y -ir._.ar/’ § &

vi. If L={a,b,c} and M={d.e.f,g} then find two binary relations of LxM e SEn T M=(d e £l L=(ab.c) T vi

vii. Find mean using direct method 11500,12400,15000,14500,14800 -e‘;.i{f::"'h-sig__il—’.::...‘a_'_}.:-f'mb: it
vii. Define central tendency _é_f-f._.af?d-fg@-d}} Vi
ix. Define dispersion _’q_iié,*,;&-u‘3! X
4- Write short answers of any six parts from the following. 2x6=12 _L,f/';';.:.yﬂfsﬁrl?!fc.[j!f:. ;,.I!Jjém -4
I Convert 4 5 radians to degrees -.:,-';-‘.’_,"y‘_, gk 145 |

Ii. In a circle of radius 12 ¢cm, how long an arc subtends a central _;L - ¢ 84° -f,z-..f-; -,_,'.- <12 ”m.;, VAP T
-2
angle of 84° "dr-.r IPAS; e



RwP-10 -G1-20

m Ina AABC a=17cm, b=15cm and c=8cm, swc=8cm .+ b=15cm«a=17cmU~tABCEL> i
find m £ B. bﬁ;}”m ZB
iv. Define a chord and the diameter of a circle -.;‘i(._y PEBL ik Sl v
v. Define tangent to a circle. _&:_"‘J_éfufub'ia.?h v
vi Define segment of a circle. _E;_.."Lg FAS TRy
vii. What type of opposite angles of a quadrilateral E'ugirsgfffé_su.éeiiaﬁ;.ﬁ(fjvul_ }F:Jr vii
inscribed in a circle?
viii Practically find the centre of an arc ABC = %FP{;?J’ L ABCU AL i
ix. Define Escnbed circle of a triangle _ég""i..éf;fa}ud}:: 2L ix
Section -1I 8x3=24 (o
Note: Attempt three questions in all while Q:No.9 is compulsory: +,;%§j’%dlr,?q&fagI££ h:-.-mrgf‘f:.‘.-i
(a) Solve the equation by completing square. 3+ 7x=0 \;@ P St () B
~\ ¢
(b) Solve by using synthetic division if -1 is the ,,:"}'\gi;f ORI .usﬁ':_‘l-{fr‘:} ;Gf}.ij: (<)
root of the equation. /-%;L j1 1x-6=0 -iZasb
gﬁ@"
(a) Using theorem of componendo-dividende Si%e{ ..f,:_i:*"i_ﬁ;_:f_,‘;‘.#r.:,ﬁ-i_,- T EE (L) 6

~REE) (-84 12

I~ ¢ —2) +{x—)’ =13

(b) Resolve into Partial fractions. {'_1__ ~I—}FL_ MY _.._,_r'_{,.‘:."’f_,-:j,-{,{.«;i' ()

(a) HU={1,234....10},A={1,3,57,9}, #A={1,3,5,78}U={1,23 4 ...1{.'!}:ﬁ ) 7
B={1.4,7,10} then verify B:A= BTV A -g-.-.-«.t'?8={1.4,?.10}

(b) Find the standard deviation 9.3,8,8,9.8.9,18 LU (L)

(a) Verify the identity Tan # +Cot (/ =Sec ( Cosec & k! Jewdlely (L) 8

(b} Circumscribe a regular hexagon about a circle of radius 3 cm. Y 5 'Ji:-.u'mfg:}fiﬁﬁcl:.(' 3 ke L) ()

Prove that perpendicular from the centre of a circie on a = :-;f__ag{fuﬂ.”f{}‘,; ;_ }?}i.r._}*::.f é_;{.:ff- .9

chord bisects it. OR !

Prove that the opposite angles of any quadrilateral inscribed J,;{E.‘..i_.:f.:.eﬁl'-i;s"gi_;’s}l.-j.-_}‘:u”:’.-’ é:_f.:zlr

in a circle are supplementary i e ol

18-10-A-57000
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Roll No.

RwWP-10

( For aII ses

g.fr.{.l.l’m-gf‘

(Part-1)-A- Rﬂ.?ﬂ

Grou p—II-..rJ/

Mathematics (Science Group)(Objective Type)
Marks: H Time: 20 Minut

ns) PaperCode | 7 | 1| 9 | 2
N/ s

es L 20:=3

15:4

l?’v’JlJ.éﬁ/{J|flu.- i 'f....f.?._, -._,"cﬁc_JDnI C.B A..:U.r’..f’.:kdiulrf:.‘.d \éfd r‘{_f'/"';f:f:....i.lfé:..—illrr‘w - g
_M:/;.L,ﬁwdyfl.b.fg Msoe 2l DL CBAsz&LL

NOTE: Write answers 1o the guestions on objective answer sheet provided. Four possible answers ABC & D to
each guestion are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

1.1 Standard form of quadratic equation is:
(A) bx+c=0,b =0 (B) ax’+bx+c=0,a« 0
2. If @.F are the roots of 3x*+5x-2=0,then < + [ is.

(€

5 3 -5 =3
(A) 3 (8) 3 € 5 ® 7
3. «° + [ is equal to ¢:-_J;|,;cr" + i
1 |
w @ —F ® o (€ (a+p)~2af o @*+F
4. Inaratio ab, 'a"is called: et atabes’ |
(A) Relation JL'T (B) Antecedent ErJ‘.: (C) Consequent {"1 @/}:l {D) None u"":jf
¢ {(D ; 1N —= ."_. et
5. If — = —  then componendo property is PO, z?r .
h d \;&\ ; g b d”
a _ ¢ au _cC 2uds2) a-b c¢-d
A b f,+d (B) ml-_c—d @L (@) h - r_f
x-2 - \‘ \ 5 -2
6. Partial fraction of{ ¥ I)t’r+j] are of the funn,c\\kq,f ngd/’L ,/Ja.’.j (x— 1)'[ x+2) -
B Ax 8 {; %3 4 Bx+c Ax+B ¢
(A ._I+\+" (€ __i+ x+2 D -1 x+2
7 Asetwith no element is called. { ‘\S :q.rwff.w‘cjfudu’n:.: ;
(A) Subset ox mptysel 2+J6 (C) Siglefenset 2r(t (D) Superset or g
8 Point (-1,4) lies in the quadrant: et LU 48
{A) I (B) Ii (C) 1 oy v
9. A grouped frequency table is also called. e E‘WU»;J:JL,G;,-" ;
(A) Data (B) Freguency distribution ﬂ::"d:ﬁ
(C) Frequency Polygon {,L!#!Ji,?:.ﬁp (D) Histogram ..‘S*J ¢
10. The positive square root of mean of the squared deviation ;ﬁ;ﬁ.ﬁrﬁr_.g_!ui.;.ux:‘{fﬂ.2,.. .n
of Xi(i=1,2,....,n) cbservations from their arithmatic mean is called :ngdfrg.ig:.}i;rslg}uﬁ.
(A) Harmonic Mean LI 574 (B) Range <=
(C) Standard Deviation i1#i/kes (D) Domain ¢fs
1. 20=____ e bwds20°
(A) 360" (B) 630 (C) 1200’ (D) 3600
12. Radii of a circle are: Il e Fisd
(A) Allequal 212717 (B) Double of the diameter /1ic_ b
(C) Allunequal <l Zri (D) Halfofanychord  £.7eifts”
13. A line which has two points in common with a circle is S FPEnd L MmE WL
called___ of a circle: 8 0-4 (A
{A) Sine {B) Cosine (C) tangent (D) secant
14. A 4 cm long chord subtends a central angle of 60°. The Tl 1 IEB0° L rata Ll 4 g
radial segment of this circle is' B b e
(A) 1 cm {B) 2 cm {C) 3cm (D) 4cm
15. The circumference of a circle is called: P A
(A) chord 7+ (B) segment ey (C) boundary -~ (D) tangent U

:;fd;bﬁ&:.hl.—‘dnu 1.1

ax’=bxaz 0 (D) ax*=0,a+0

16.10.A_37-38000

Whale +ﬂc;UN 13X +5x-2=0z 3L ﬂ-a’ /ﬁ 2

w

10

N

A2

A3

4
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Roll No. __ R it ( For all sessions )

Group- Il-....d)‘

RWR\0-6220 .
Mathematlcs (Science Group) (Essay Type) (2 (?-J/JYL#) o‘ k;
Marks: 60 Time:2:10 Hours & 2:10:53 60:
Section -1 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 :.-.- I:‘;'/y.f.p!:ﬂir—df.:_ u:J‘ ETOT I
i. Define radical equation. o ..e_,ﬁf...lsv sSrae
i Solve by factorization x*-11x=152. IS S AT PN
i Write in standard quadratic form ” i 1 * ‘:{'3__4 =3 Y 0 - ﬁbd:LvJ far sy il
iv. Without solving find the sum and the I +7x-11=0 ¢ {roots)U Al AL S o v
product of the roots of equation - J}P’.'.. ,r-’,_,"‘LmL.;:--
v. Find the discriminant of quadratic equation. Ax-Tx-2=0 g S sI 3 e fns N
vi. Write the quadratic equation having the roots 2,6 N - :.:J:L-:‘JJ:”G*J[ROOIS}UJ:;F_{E_: vi
vii Find a mean proportional to 16 and 49. . ?\% ) -L_,;:f,":"".,fl:rﬂ&hﬂb/-ﬂg.sﬂﬁ i
viii. Find the fourth proportionai to ?"5\5\ W_u‘}}*}_gn:u‘?,; Vi
ix State Theorem of componendo-dividendo. e poi A i
3. Write short answers of any six parts from the f9lfq\tfiﬂg) 2x6=12 -Jﬂa"}f&&&/iyﬁnzqg(jfc—dufjbu
i Define fraction. _\ f"\tf%"/ - af-ig PR
A\ OVv Tx -9
i Resolve into partial fraction. r\g&}) & -J, 5 -,,-Jr":_,.) Z
P (x+1)(x=3)
jii. 1fX={14.7,9)and Y= {24591\\1r3éhf|nd YA f,w} X JrY={2.4,59}4X={1 47,011 i
iv. I X=(2.4,6, 20}and Y={4.8,12, ..,24} then find XY ’-":‘r"’){-‘!'v:-rY (4,8.12,...24)2X=(248. 20},‘1 i
v. If A={a,b}.B={c.d}, then find AxB. f-f‘waafe {c.d}+A={a. b}/ v
vi_ If set M has 5 elements, then find the number of binary relations in M. A-*J-"‘:w.;lul» L,_;Mv.,,.mﬁ?lﬁﬁ M/f Vi
vii. Define Arithmatic mean and also write its formula :;‘UJ{L'r'xbnlc.’.(‘(_ﬂfqu h._,L: v
viii The marks of seven students in mathematics are as follow. Jeutif g n.__,,f’s?.;' J'u._. u-}‘..iw..,..- il
Calculate Arithmatic mean ..ér:"’hzslbaaru j le”
Student No. 1 2 3 4 5 6 7
IO
Marks 45 60 74 58 65 63 49
it
x_ Define Geometric Mean and also write its formula. s Ur‘:E;;1&§J:..§-,’-'L,fmlj.:5|
4- Write short answers of any six parts from the following. 2x6=12 Hq/i-f:.gizf?i;lztga.éfc.L,ﬁ:d_’jt-,u
i. Express 135 into radians _;‘;."3_,&;;!:#135“ i
i Find () when ( =45m, r=2.5m. { =4.5m, 1=2. Sm e J*'i'-'-‘ ¢

-

1 { 5]

ii. Define Projection = .:_}...;'f;: el

il



iv. Define a circle.
v. Define secant
vi. Define chord of a circle.

vii. Define circum angle.
viii. Divide an arc of any length into two equai parts.
ix. Define the segment of a circle

Section -II

Rwe-\0-62~20

Bx3=24

3Pl s v
_*-.i:e/;J}.id’ﬁ' v
ﬁzg:,g-ﬁ;{;,i.«_;-.- vi
_aér_.a:ﬁ{ s
drér‘)u-.:r“"c'mf 2L fdud'
-&_‘," Eadl e 5 ix

f‘.ﬂu‘*

il

Vil

Note: Attempt three questions in all while Q:No.9 is compulsory: _{_d:usﬁdlr.ﬁqj} ::al,lzi'..:'.ftllrgfj e s

5. (a) Solve the eguation by completing square. £ +mx+n=0 WSS ..stf..,lsLa () 5
5 ; " S
(b) Prove that. x3+vs+zﬁ-3xyz=(x-+y+zj(x+ Wy+ ) z)(x+ @) y+ P z) wof Zat ()
(% =~ 3 P
VX +Ep —x’=p 1 ’T’ik‘\ -
6. (a) Solve \fll',\'_‘ +9'{}3 + ‘JT"- 2 ?\ \_{,{_‘.’ -c:_gj (....Ih) .6
(ﬁ ALE L
(b) Resolve info Partial fractions. “ N 1% _,_,:,JL,E";:.',:*J:Z ()
7. (a) If A={123,4,56).B={2468},C={14,8} then m’tkﬂ »C={1,48).,B={2 46 8}A={(12345 S}ﬂ () 7
Prove that met )mffﬁﬂ;u( ANC) T
(b) The marks of six students in Mathem r% as follows. -sSibaidn/ et Sl o’ g (L)
)
Determine variance S} N ~4|;«*"-‘—£/-”
<0
Student No..(* 1 2 3 4 5 6
Marks 57 60 70 30 90 80 42
] 'l
8. (a) Prove that Cus’@ —Sin'0 = Cos™ 0 — Sin 0 L&k () 8
(b) Inscribe a circle in an equilateral triangle ABC with B e ABCEEL W (L)

each side of lenght 5em.
9. Prove that "If two chords of a circle are congruent then
they will be equidistant from the centre”

OR

Prove that: The opposite angles of any quadrniateral
inscribed in a circle are supplementary.

20-10-A-32000
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_ﬁ_ﬁ_ﬁ' 'ff 8.5.C - (Pari-11)-A- 2018

R"HN‘-"-AQJ;L——“-——‘-.f?y‘*"t"" m {—Fﬂl' all sessions ) PaperCode | 7 | 1 |9 |7
~( {~ " L 7 L Group-I- - .

Mathematics (Science Group)(Objective Type) (u",,v}(.,.,/u*'p)(j' L

Marks: 15 Time: 20 Minutes £#20:3 15:/7

Adrigd AT y,:.;T)’....mu-*.V_-rij_{.snmic,a,a_-fl_.lﬂ.-f,g& .ch,,,-z-éq P Sanl vl s

...UI:,dc..(fl_.-JEELAL:L}':.W"LU’:QJ}ULD L CBiAsz&ELL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC &D fo each
question are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

x+2 x+2
1.1, Partial fraction of m are: PR P ot 5 W 14
A B A Bx+C Ax+B C A Bx
W 341 P +2 @t T © xel @e2 O xa Fe2
2 Theset{x/xewn x<101} is et {x/xewa x<101} 2
(A) infinite set Ln$574  (B) subset .».:—J" (C) nullset 2rob (D) finiteset ~rfs
3 |f the number of elements in set Ais 3 and in set B is 4, then SUbI L AXBIna L Bersdid Sl LA/l 3
number of elements in AxB is: = sl
(A) three  oF (B) four s (C) seven =\ D) twelve i
4 A data in the form of frequency distribution is called: TSR i R
(A) range =* (B) Histogram ..‘JJ § (C) ungrouped data ﬂr{,f-:.{:-_"’ (D) grouped data :Ir’.js/"
X ot ©) 3
5. 4 radians is equal to @Q}g WL Vgl
ayaet __(B). 115° (©) 13&“ {\\\\\{; - (D) 150°
6. A complete circle is divided into /r;;}f\}:) DY ’ b flﬁ_ 6
(A) 90° (B) 180° _{Wu“ (D) 360°
7. Acircle has onty oné C\‘/ B ;_s.g’l_}f_{‘__ sl T
(A) centre 77 (B) mn@%&« (C) chord 7 (D) diameter A )
8 A 4cm long chord subtends a central f60° The radial o Hrebhgtt) ¥80% T a0 4’ 8
segment of this circle is: < N _‘:ﬁ ..... JE
(&) four .y @B\Dne o (C) two (D) three of
@ Tangents drawn at the end points of the diameter of a circle are: Bl L Pl 8
(A) parallel  JiI# (B) perpendicular st (C) intersecting A (D) non collinear f I"T/f

> nﬁsrfd‘}'ﬁ_.}u A0

(D) boundary s

10. A line intersecting a circle is called:
(A) tangent UV (B) chord A (C) secant CFE

= r
11 Standard form of quadratic equation is: e Fhrriaiadom M

(A) px+¢c=0,b20 (B) ax’ +bx+c=0,a20 () ax’ =bx ,a#0 D) ac'=0,a#0

12 Product of cube roots of unity is: -._;..,_.,;'\_,!"bf.,.-ab"sig.:i.j(' 12

wo @1 & © - L& 0 3

43 1fb* —4ac <0 then the roots of ax’ +bx+c=0are: -u_:’z-ﬂu'jy;r: axc +bx +c=0zn-dn b —dac <0 PORE
(A) iational ¢/ (B) rational Jt (©) imaginary J-74 (D) natural L8

14 U=V then: o euxv' fi 14
(A) u= v (B) u =kv ) w’=k ) w’ =1

15 Find"x" in proportion 4:x::5:15 -,;,J?,-#".r"h:tl:.r::S:ls__..,:;: 15

75 4 é

(A 3 ®) 3 (€) 12 0 3

17-010-A- X R



8.5.C - (Part-IT) -A-2013

Roll No. o Sopmu ( For all sessions )

Mathematics (s Group1- 2/ "
(Science Group) (Essay Type) (2 E’—")(iju* ) U‘ .L.J

Marks: 60 Time:2:10 Hours 5_‘.’2:]0::3: 60'/‘2
Section -1 2x18=36 Jil> o

x6=12 g2 fe Al azig e e pdits 2
-Jn:dﬁ..g.ufgl/_é_'j?\!‘:.:uduu A

2. Write short answers of any six parts from the following.

i. Define quadratic equation with an example.

ii. Solve: 4-32x=17x AL
iii. Find nature of roots of: x'=23x+120=0 AP ady i
iv. Evaluate: wew JAred v

3x? +7x~11=0 g S A e sl Sl S v

v. Without solving find the sum and product of.
X +p.r+q=0.:,lsL-ﬂfﬂ’ A i

vi. If @, B are the roots of the equation x* + px +q =0, then _
AN - o .
< ri‘ gl dd @t v P sy

calculate @’ + 1.
u s K @\
vii. Define direct variation. " ,\,&\(“‘ S fle i
Y _:)‘EJI .
viii. Find mean proportional between 20x°y° (SF'L"@“ B s i
1 AN ~ 1
ix. £ A4 T and A :2whenr*—'3‘ﬁnd?‘when‘4=?»§;fg\:?v = A=T2 Bultr cr=3 2 A=244% ;Tﬁ ix
3. Write short answers of any six parts fro { lowing. 2x6=12 _Q&fawﬁﬁ;lzi{ayagﬂufi&a b
i, Define improper fraction. ¢ '{E:b -{éf._:g ,;J/..;lyf i
P .
<N 3Ix =2x-1 s of, .
ii. Convert the given improper fractioh};ﬂ/o proper fraction. b }-:———;-1— SLAbAA S ,-_nfd: il
x —x
iii. Find a and b if: (a-4.5-2)=(21) :ﬁé}#f—’é busia i
. Find the number of elements in ¥ x X and X'x X X =tabe} Y= {die} NP PbiIf X x X #Yx X
v. Define binary relation. AT
vi. Define the bijective function. _;,g;‘:.yforﬁ'é?‘jg
NS | Oy

vii. Define variance.

viii. Find the range of given weights of stude
for the following set of data.

103,62 S eal i Vi

nts.110,109,84,89,77,104,74,97,49.59
P B fa i AYoBALiGs X

Find Arithmetic mean by direct method

ix.
200.225,350.3?5,2?0,320,290
4- Write short answers of any six parts from the following. 2x6=12 _q&fapﬁ/‘?ﬁplzg;‘i’&.pﬂ;}j&n -4
Byl il
i Define quadrantal Angle. - X
133 _‘)’ J,A;,vcdff:’( _I_'_;E "
i i =it WS = . 16 ",
i Convert — into degrees. s
e [ =2cm , r=3.5cm Jigger g il

jii. Find @, when:



iv. What is meant by zero dimension? Sedple aanip iv

v. Define collinear points. -4{.5',;&@5:‘7 v
vi. Define tangent of a circle. _,_[/J /:u(._,rl.r'.:f'.-}u i
vii. Define chord of a circle. -a;{..y ,;'J A a7l Vil
viii. Define sector of a circle. -.’-:-1{..9 ﬁﬁ}bbl&/’é Vil
ix. Define regular polygon. ' ..é._,-{_yﬂf(,uﬁw/??f; Jix
, Section -II (1
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 _4;..&119/:;&.?;{)}/’:.;13&@ el f L
5. (a) Solve the equation. Jx+3=3x-1 -:»1'.5:)".;.!::.-«- () 5
-, (b) Find the value of /1 using synthetic division if 3 is ,”l%/f‘}"-:—éuf hc-d#"""lir'ﬁf(} ()
the zero of the polynomial. 2 =3hx’ +9 By 1A T
&

. o
6. (a) Using componendo-dividendo theorem solve the equation: _9,%\ ’ e ALt S5 Lok (B) 6

(J:+5)3 _{x;t-\ 1\\,_(:}2
L] o
(x+52\i§5\jf 14

~ x=5 o
(b) Resolve into partial fractions: Cg@\‘%‘i:g -4/;}25. L5z (&)
<)
U={1,2.3,4c6010} , 4={1.3,5,7.9} + B={1,4.7,10},C = {1.5.8.10}
(b) The marks of the six students in the Mathematics are as rditnidn/ Fel s L _,1,4‘.,)&..{ ()
follows. Determine "Variance". S e
Student No. 1 2 3 4 5 6
Marks 60 70 30 90 80 42
|+sin@ 1-sinf )
—~— =4 tanfsect - 2E 3 ) 8
8. (a) Verfy that l-sinf 1+sind - 3. (

(b) Inscribe a circle in a triangle ABC with sides given below. BN AR ksl AABC ()
|AB| = Scm, |BC|=3cm, |CA|=3cm -eﬁ-?}"._,ﬂmr"i;l,f
"g.t‘f-i:"’”JJ'-:!fa;ﬁofc.p 7}&5?‘:':..(4.:.:!‘ 9

L
t of a circle are equal. -U;Lxx'zﬁl,uxglxg,ﬂ-}'uﬁ&.{lﬂe.rU.f‘ =¥

Also measure its in-radius.

9. Prove that "perpendicular from the centre of a circle on a

chord bisects it" OR
Prove that any two angles in the same segmen
18-010-A-



W S.8.C - (Part-II)-A- 2019

RollNapb___Mj_f..@}mm ( For all sessions ) PaperCode | 7 | 1 | 8

2

AW S ...\._,7

Mathematics (Science Group)(Objective Type) Group-II- -;df (u‘s,-')(.,.:fu’"v)d.' L

Marks: 15 Time: 20 Minutes 2 20:2%

154

A8z eone VR e L4 100,CBA M L s .:.‘quéi'd'r‘d" P helzl ctvrded
-L,p/a.;:-L,JJLfL:L/u,.-h/;.u:uuluf.n | CB A&l
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The quadratic formula is: -e-Vrida 1A
_—hiu‘bl—dﬂt‘ bt b -dac ~b++b* +4ac bim
(A) X= 2a B) X= = (€) X= - D) X=
2a a 2a
2. @ +fis equalto: ema+f 2
y 1
w o' -F B) ZT: 4 © (a+p) -2af o “*F
3 If@ /3 are the roots of x* —x~—1=0then product ¢ 20 .4 2a ;U:ru‘jmf. X -x=-1=0zi-f.a 3
of the roots 2a and 2/ is: et A
(A) -2 B) 2 (C) 4 (D) -4
4. Ifa:b=x:Y then alternando property is: @\ e eduinaib=x1y A4
. % atb_xghv< a-b _#-
(A) X ¥ (8) by Q{\C‘J (D) pe = y
5. In a proportion a:b::c:d, "a" and "d" are called: f\%\ .L_Ur d sla tabicdert 5
(A) means ;,r."'"s (B) extremes ;;l;) ggﬂard proportional -.,-f'vlf’ (D) fourth proportional ¢ e
x+2 /{o/\/ x+2
6. Partial fractions of {x+l}(x + 2) are cf e(ioq;h --.,,:_?Jr:u(j.----.-fJ::ZJ (x+ ])(,r + 2) .
A B A By C Ax+8 C A4 Bx
(A m+.r“+2 ®) _-ek X2 © xe+l +x +2 © i .1'+l x+2
7. If number of elements in set%& and in set "B" is 4, then AAxBIx"4" LB L3 '#Juﬂiﬁ“ﬁu".._v/l 7
number of elements in AxB is: -.a.meJub’ﬂ
(A) 3 (B) 4 (C) 12 (D) 7
8  If number of elements in set "A"is 3 and in set "B'is Z, then l-rndu[_AmeZg: B;:PSJJA-'UJE-I ""A"..—vzi 8
the number of binary relations in AxB is’ -im dmlp‘J
(A) 2° B) 2° (c) 2° o) 2?
9. A frequency polygon is a many sided. PR 15U .,d‘ uom,-".,;,,.-! 8
® dosed figure S (B) rectangle (C) square &y (D) triangle &4
10. 20° is equal to' -..;d.cl,ci‘ﬂo A0
(A) 360 (B) 630 (C) 1200 (D) 3600
11 Locus of a point in a plane equidistant from a fixed point is called: ety i e B R BB UL A
(A) Radius 1 (B) circle »7h (C) circumference &f (D) diameter #
12. Tangents drawn at the ends of diameter of a circle are____to each other. - fl #-wn-- LA ‘d.d_'.'_"{uyﬁ,ﬂif_ s 12
(A) parallel Ji'# (B) non-collinear &/ # (C) collinear &% (D) perpendn:ular »f
13. The length of a chord and the radial segment of a circle are congruent, 4‘.-4:.- 7 2l BN Uduﬂminu«_ hft 13
the central angle made by the chord will be: £ — ST
(a) 30° B) 45° ©) 75° o) 60°
14. How many common tangents can be drawn from two touching circles? w = ng.t,uwz'&: ._J:}uz_:f."_.ff,;‘”}: 14
(A) 1 (8) 2 (C) 4 o) 3
15 How many tangents can be drawn from a point outside the circle? 9._,_*..-.£g.j__ﬁv£;_ﬁ,¢-,aﬁ_;u 15
(A) 1 (B) 4 (C) 3 (D) 2

19-010-A-¥¢
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Roll No._____ B ( For all sessions )

YN,
60:/:1

Mathem atiCS (Science Group) (Essay Type) Gl‘ﬂllp"“\;d/
Time:2:10 Hours & 2:10:5%

Marks: 60
Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 _L{&f:f{-lﬁ/‘?ﬁﬂlgc.éfg.bf()_}@: -
i. Solve the quadratic equation. 3x'-T7x-20=0 - S oG
ii. Define exponential equation. -.’qif-/_;-' ,;J.;-_I,uj'.}.:.? ii
whew™ _a;,ffqh;-,é i

ii. Evaluate:
Al d4x? -5x+6=0=N UJ} x" v

if @, are the roots of the equation 4x’ —5x+6=0, then
1 1 1 1
] LSl —+— s
e L, A ol
-ux2«-6u%;£.u’zé:!d ;'rV(ﬁnn R

find the value of —* .
a B
™ - -
Use synthetic division to find the quotient and remainder when: fﬁ@ \ sV bé.:rL,-QL-:’ir':;' &(} i

(4x’—5x+ ls‘kvﬁh S

JIa Sl i

v. Write the quadratic equation having roots 2,-6.

vi.

vii. Define inverse variation. \ j
< \’L©
.:?'/'P'_.rb-wa’ i =yl X+ Y i

iX. Ifyacx"‘ and y =8lwhen x =3 find ¥ x=5.2& r:"‘...-a’., Vix=32y=8luyxx ' ix
#ﬁ following. 2x6=12 - Lf.:&fﬂfsﬁcl?l{aljf;-gﬂpf s 3

3. Write short answers of any six pa

viii. Find a third proportional of X +.V andx’ -y’

i. Resolve into proper fraction. 6; +5; --l:, NPT S

i Resolve into partial fractions x:tl i, -a}if,k”;:m‘;:m’ = l_ : A
ii. Define one-one function. -u;f_gﬂuigone-one i
. IfM ={d,e. f,g}  then find two binary refation in A1 x M s MxM M ={d.e,f, gl A v

v. Find "a" and "b" if: (2a+5.3) = (7,h=4) Sy oA bma v
vi. Write Dom f and Rang f if: = {(U.l_}.{1.2).[2.3).(3‘4)} :zqa:f-;}"Range fsiDomf _vi
vii. Define Mode. S Pk il
viii. Find the geometric mean of the observations by using basic formula 2,4.8 ..i':f,::"’brljﬁf't':.-'glﬁﬂi_:ri. J bl i
34,34,34,34,34,34 LGSt ix

ix Find mean (Arithmetic mean ) of the observations

2x6=12 -q.&iayigfﬁ‘ﬁ.lzlgg_dfc,uumﬂ -4
i. Define an angle. ,g_;f:_é;ju’:,p; |
-4’4‘?&&1‘}{)‘”‘# 25930" i

ii. Convert25°3()' to decimal degrees.
iii. Find the distance travelled by a cyclist moving on a circle of radius 15m, if ~ ~<1 5,-_,'1,-,-{._,"-:/(5bil:.ﬂllr,'ff'v.,g i
o L et 6.3 5ux

A- Write short answers of any six parts from the following.

he makes 3.5 revolutions.



iv. Define projection of a point. _.'4_.{..&' Pl FLus w

v. Define a circle. _é_:if_éﬁ&}h v
vi. Define secant of a circle -u.‘o;e/;ﬁstfﬁ'&s}b Vi
vii. Define arc of a circle -z{_a I L2 il
vili. Define chord of a circle. | g“i..df.f 2L il
ix. Define Polygon. c,{._.u Al ix

Section -1I (1=

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 —< ($/19 /:'tdlr.?;{&iatlﬁﬁatﬁnfj WL

2x+1 x-2
5. (@) Solve the given equation by using quadratic formula. 2 zed =0 -gJ&-JW'LJ:’;B&;n:J&':PJJ’ () 5
(b) Prove that X'y 4zt = 3xyz =(x+_v+:-:)(x+u;].'+w}z)(.'r+w]y+wz) Lo (L)
6. (a) Using componendo-dividendo theorem, solve: {J’ nl / |L-F¢...-’J“’3J.r.f—-' () .6

_Zf:)f.u:}:;rfdsz (h,-')

7. (a) Prove that: (AﬂB =A'UB' . R ;ﬂ(AﬂB}J =A'UB’ .fé_:?(.:.:h‘ (@) .7
@3{};10* A= (1,3,5,7,9)

(b) Resolve into partial fractions:

={2,3,5,7}
(b) The marks of six students | m ematics are as follows s Lstarn /et Sl uF g (L)
Determine varianance S
¢ No of Students (5. L¥ 1 2 3 4 5 6
Marks A 60 70 30 90 80 42
| | 1+ cos U siné oy
8. (a) Verify the identity: ‘JI YR - cos 8 -c.'?i_ ety (L) B
(b) Draw two circles with Radii 2.5 cm and 3 cm. If their centres ¥~ -'.r.f.,,;,"f"vj’flsffzﬁu'iuf_‘;ﬂ.,:f’"r_. Hass (,1_,)
are 6.5 cm apart, then draw two direct common tangents. . WS P B.SJ-JQCSL/;:
9. Prove that "a straight line drawn from the centre of a circle to bisect the Sz ﬁ.ﬁ)}:df el ' &:.«:1* 9
chord (which is not a diameter ) is perpendicular to the chord.” ‘e bk S bl S s
OR L

Prove that any two angles in the same segment of a circle are equal. - i< »sle” Efu:fd'!uﬁafl:_ﬁﬁd_gﬁé.:lbf&}".:q?

20-010-A-
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Mathematics (Science Group)(Objective Type) Group-I- '-r’; (u‘;,r)(.,.,/u-'*’s,)(}" L
Marks: 1§ Time: 20 Minutes 22420:23 15!/.}
,-_”Jrrm{4rqr,z.ﬁ’y;:.fT.f.,.rzu’-ug£r;.snar.c.B,A.=.sz¢£JIy,; a%rqwu%/ﬁ(d:.:.wéwrr—rﬁ:éi

U eSSBS 3 P SIED L C.Bi A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B, & D to each

question are given.Which answer You consider correct, fill the corresponding circie AB,C or D given in front of each
question with Marker or pen ink on fRe answer sheet provided.

1.1. The measure which detemines thg middle most observation in a data set is cailed: - L'LH-’L nndy»uf il 1.9
(A) median s (B) m 31 (C) mean 4l

(D) range o>

2 secfcotf s equal to: -¢-sz5eclcotd 3

sin# cosé —_—
$A) SR (B) (€) sinf © cosé
3. Right bisectors of the chord of a circle alwayg pass through the: SRS B Bkt Sy 3
(A) radius s (B) centre 7, (C) diameter & (D) circumference &

4. Tangents drawn at the ends of diameter of a circle a to each other: -@Ln----b:ﬁfhru{#:uyﬁ ALl e 5y 4

(A) parallel (15 (B) perpendicular »»f (C) non parallel (ii7F (D) collinear ks
5. The semi circumference and the diameter of a circle botP\subtend a central angle of: - Frmali§ :-’}u’kj_in'f.ﬁr..}u 5
(A) 90° (B) 360° c) 270° (D) 180°

6. Angle inscribed in semi circle is: AN et e i 6

A y
(A) 7 ®) — 2

-

Fi g
v (D) E
7. How many common tangents can be drawn for two touching ¢ ,l@g‘\?&?:\fg_rélgr’_&gv_f L i nE S 7
W)

(A) 2 (B) 4 (€) 3 T\7< @) 5
i xf:}) I
8. The number of terms in a standard quadratic equation ﬂxﬁi\i{ c=0): ~estfud g ax” +bx +c = U.:..l;l.—*u’-xm 8
{“‘6;\:'\'9
(A) 1 (B) 2 ~ S (€) 3 D) 4
A
, ~
9. Roots of the equation 4x" = 4x+1 (el AL A Ax . g
(\‘:jv v

(A) real, equal iz (8 (B) real, unequal <L:t(> (C) imaginary (D) irrational Pt

10. 1% 7 are the roots of 75" = x+4=0yhen @7 i et P R A 1K ~x 4420 Ly @B £ 10
1 7 —4

(A) 7 ®) 7 el @

11. Inaproportion a:b::c:d, p and ¢ are calied:

(A) extremes .45 (B) means 25

u v

.
12,08 ==K then:

(A) u=wk’ (B) u=vk’ €) u’ =k

13. A fraction in which the degree of numerator is less than the degree of ....:.JLl‘ﬂ.nf;.d/GJ LA jd’.;ﬂ#‘—&f/ A3
denominator is called:

(A) an equation =bi-  (B) animproper fraction /Lty (C) properfraction ~_2i» (D) an identity =i
14. A set with no element is called:

(A) subset _-:-Ci” (B) empty set .~ {C) singiton set ol (D) supersel -

If number of elements in set A is 3 and in set B is 4. then number Jwt’;l{,}:AxB?mh.}! B..*.:ma»ﬁu};uiuwﬁ 15
of elements in AxB is:

(A) 3 ®) 4 ©) 7 ﬂ © 12
17-010-A-Fr ¥

15.
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S5.8.C- (Part-11}) -A-2018

( For all sessions )

Mathematics (Science Group) (Essay Type) Group-l-f.!/ (2 L":"l)(..'.dfur L) L,J LJ

Marks: 60 Time:2:10 Hours &£ 2:10:% 60: /7
Section -I 2x18=36 Ji»

2. Write short answers of any six parts from the following.  2x6=12 /2 felz L 2tg Sl tditn .2
i. Define radical equation. -E}{—i’fib(éf:l--‘dfig i
ii. Write in standard form: p i r +.xi4 %3 _u:'{szd;_l:vf:,hla i
iii. Define synthetic division. _a_-,f(_gﬁJf..-’z;,-"'; i
iv. Discuss the nature of the roots of the equation. xI+6x-1=0 -é(».‘.-f.{f'k.:’f[;uj:iu':&}u v
v. Find the discriminant of the equation. Ox? =30x+25=0 _éé';}#.;ﬁ)f;,l,u v
vi. Evaluate: (l —w—w )? _‘:J:‘-F:'*"...J vi

vii. What is meant by direct variation?

viii, H3(4I— Sy) =2x~-7y find the ratio X: V.

ix. Find the fourth proportional of 5,8,15.

PEN e Ve coZ i
n,{\i‘\ skt XY 2§ 3(4x- Sy) =2x-7y i viii
NSV b £ 32K5,8.15 ix

~

3. Write short answers cf any six parts from the follq@j 2x6=12 -Q.{/i@?ﬁﬁﬁplzlﬁ’ntj;&gﬁdi@ﬂ 3

i. Define a rational fraction.

ii. Resolve into partial fractions

1

iv. Find &', if:
v. Find a and b, if:
vi. Find YxY if;

i. Define Arithmetic Mean.

v

viii. Find Harmonic Mean for the given data.

ix. Find median:

a1 % "
l 'x;w . -F.:E‘-D-Zl{)f:/ﬁzzf
X - (,ﬁ\_"\i“&a_ﬁ
i. Define intersection of two sets. . (%)

~P .
. &) EAS
- t
xt 1

SIS EL i i

U=41,2.3......10} , B={3,5.8} Sideb g v
(a4 ,b-2)=(2.1) Ny S basa v
v={-2!1,2% ﬁzgi,:}vvxv vi

A (PE i

12,5,8,4 S LT v £y i

82,93,86,92,79 -gf-#:;m,; ix

4- Write short answers of any six parts from the following. 2x6=12 _L{I{;&Llﬂ'ﬁfﬁpizf{;g}’;ddjb” -4

i. What is meant by quadrartal angles?

i. Convert 25”30 to decimal degrees.
iii. Find @, when:

iv. What is meant by projection of a point?
v.-Define circle

vi. What is meant by length of a tangent?

"-'c“...:f/'l_f‘:..‘j.__ il

et S end 25930 i

(=45m : r=25m :.Qag?#g i
et L SEE i

Y18

Ve BRI //C\)\ ?‘E—JVELJP'JJV i



= f:ir_{; /;J/éﬁf_:‘_ Ay ik

vii. Define sector of a circle.

viii. Define cyclic quadrilateral. _ﬁigf&):-z.li’/b viii
ix. The length of the side of a regular pentagon is 5cm, find its perimeter. -’:_??:""JHE’JI.,:_( 5L o Lu'f)x’ L1 ix
Section -1II ._ % rs.s..-‘b
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -%d;us/?dfr.ﬁqﬁf;wéammfgf ks
5. (a) Solve the equation. Vx+3=3x-1 c,{ et (i) .5
(b) 1% 7 are the roots.of the equation 4x? -5x+6=0, Funul 4x” ~5x+6=020l- f.aj (o)
a® B e
then find the value of Sy Sl
f a -
"?
6. (a) Using theorem of componendo-dividendo find the value of. - i.,-l’; -m.f.Ji.-*!._,-—U"‘?JfJ—- () 6

J\.‘ +3p %?\“2_“
Jx raph i - pt 3

\v 9
/.ﬁ
(b) Resolve into partial fractions: ‘"‘1‘ ) {x-1)(x+ 2) _::.?:,- Lz (&)
¢ O ~ ' r’
7. (a) Verify that (B~ 4) = B'U A if %N.\JNJ JB-A) =BUASE=k ()7
U={1,2:34,..210} , 4={13.5,7.9} 1B={1,4,7,10}

(b) Find variance. 9,9,8,8,9,8,8,18 gl 7 (&)
8. (a) Prove that (cot @+ cosecd)(tanf - sin @) = sccf - cosf ,ﬂ(‘.;{#;: (L)) 8

(b) Circumscribe a circle about a triangie ABC with A BC AR L B a8 AABC (&)

sides 48 = 6em . BC =3cm andCA = dem - Ui A 3 62 AUl €A

9. Prove that a straight line drawn from the centre of a circle to S .w.:/’?,e)}.-d';_ ,?Cai;._}h'lf’q_?;&

bisect a chord (which is not a diametre) is perpendicular to the chord. _‘Lt'ﬁ}:‘fx;z-‘:fki..ﬂh?ljbé../i.ﬁ:‘:'-

OR L

Prove that the opposite angles of any quadrilateral inscribed in a circle d/:fl;é_,u,{.l;:-g:,,{.;d,;r,;j}_ M. 'fé._.'?-':-r.h‘

are supplementary. S ydali
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Mathematics (Science Group)(Objective Type) Group-II- '-:r"/ (d’fy“)(.f:fu""l.-)d' LJ

Marks: 15 Time: 20 Minutes &2 20:=3 15/
M6 e W2t L 6D C.B A g.iz_-ﬁy,didlr,;a‘%q iz oeinl e irpliied
LA Sl M M 3e L LD | CBeAszeLL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink o the answer sheet provided.

x'+1 x* +1

11 (x=1)(x+2) i Wi .{rm 14
(A) a proper fraction /.,.a.l: {(B) an improper fraction /.._.-al.yf
(C) anidentity =iV (D) aconstantterm (L

2. Acollection of well-defined distinct objeXts is called: et AT 2
(A) subset ry’ (B) powerse\ wrsl  (C) set o (D) emptyset xyi

3. The different number of ways to describe a\get is: : e OISR SBIL L S for 3
(A) 1 (B) 2 ©) 3 (D) 4

4. A frequency polygon is a of many sides. . KISUsM ST 26s 4
(A) closed figure S (B) rectangle (C) square &y (D) circle 70

5. 20°is equal to: -¢-21220° 5
(A) 360 (B) 630 (C) 1200 (D) 3600

6. Radii of a circle are: e\ JSlngle el 6
(A) all equal  slepl? ) double of giametet e b

(C) all un-equal xl.c,ff(l.? (

half of any chord 2y’
7. Acircle has only one A7)

N - SR Gl e ol 7

(A) secant Gk (B) chord 7 . (G) hameter 55 (D) centre 7

8. A 4cm long chord subtands a central angle of eo“.t% g;lﬁi nt of b‘}._}i:-.;.rh,:!.il’saa{?fr}:uiujy( 4.0 8
this circle is . | qrj‘“ o T S
(A) 1em (B) 2em ¢ m, <V (e) 3em (D) 4cm

9. Acircle passes through the vertices Qr@f)angled A ABC with «mAC =3cm UtABC;.ﬂ-,;l)‘:;}m"-’ 9
mAC =3cm, mBC = 4cm ang.@gé; 90° . radius : LUKLL 2 SimsC =90 4 mBC = 4cm
of the circle is ks > S— Ui Hsthsisfe
(A) 1.5¢cm (B) 2.0cm (C) 2.5¢m (D) 3.5cm

10. The circumference of a circle is called: -q.rufj._..ﬂ’:_}h 10
(A) chord & (B) segment ¥ (C) boundary - (D) secant 8 73

2 -
11. The number of terms in given standard quadratic equation is: X + bx + o 0 afudif el d;i_.v.;_i:m&rdx A1

(A) 1 (8) 2 (€ 3
2. 1f@ B are the roots of equation.then & + f is: 37 +5x-2=0 .cm@+BVunul e Boa fi 12
5 3 -5
(A) 3 B) 3 © 5
3. Sum of cube roots of unity is: -& rf(....uab;_-Z.Ji’r A3
(A) 0 (B) 1 (€ -1
4. Inaratio g:b, ais called: Labed 14
(A) relation J’" (B) antecedent FJL,E: (C\ consequent ﬁdﬂ: '
5. The third proportional of x* and ) is: e BLAK Y X A5
2 4 2
(A) f‘ @ ¥V (€) i_: (D) iT
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Roll No. ] & L] ( For all sessions )

Mathematics (Science Group) (Essay Type) Gmnp—l}-fJ;
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Marks: 60 Time:2:10 Hours &4 2:10:=5
Section -1 2x18=36 d?l,.b
2. Write short answers of any six parts from the following. 2x6=12 _u_‘,{rf:.{,Ix/ﬂﬁfl:Zlgc_Gbetpfib;: 2
i. Define quadratic equation. -g,{/..ny;.-l:L»d;m
i. Solve by factorization: 5x* =15x BN AT EN
iii. Find the discriminant of: 2%’ - Tx+1=0 -G/ i
iv. Prove that the sum of the all cube rocts of unity is zero. .fg;\txj’;rff?ﬁmJ#rl}d:Jme{j;—;t‘ i
AL DN
AN
; -1+ =3\, s
v. Find »° if: w:——é)) § ﬁu)};"ﬂy_’J w!
. e : ARE\© 3 3 b o
vi. Using synthetic division, show that(x - 2) is the ?(\5\3;,‘_;__ ) K x' +x? —Tx 42 J/J*f..:.f,h-_u(!(ﬁ'ygj-{f
factorof. x* 4+ x* = 7x 42 <E?>J & (.x - 2) Az
A\S " -
vii. Define inverse variation. (,‘C{I’G o g <t f.._&r/"&jr':‘,;"
O\ \ :'/ -
viii. Find the third proportional to 6 and 12. \r‘w@ - da};}”..,-—ﬁw ¥6, 12

— : N
ix. Find X if:6:x::3:5. /.‘Sl-ﬁ{’b\«‘}f

|

i. Define identity.
3 2
— ‘ . X —-x"+x+1
. ange in proper fraction, T M BT
g prop X 45
iii. Define union of sels.

iv. Find X UY and X (11 X ={1,4,7,9}, ¥ ={2,4.5.9}

v. Define into funclion.

vi. Find the Range and Domain of "R" if: R= {(a.b).(b,a),(ad).(d,e)}

4i. Define Harmonic Mean.

ii. Find the Median of the given data: 19,2325272931

ix. Define variance and write its formula.

I xi6:x3:50
3. Write short answers of any six pglilk from the following. 2x6=12 _q&faglz/ﬂﬁ;lzlgnﬂ:ﬁ.gtdjba :

Ay 1S
RS i

LSt L ot i
JSiggeb XUY n X OY

¢ é.@/-é‘fbfuf HEY]
Sieder bt R
RSy PN

i e:,?i;}”'f'&.-:hﬁirﬂ_’{_.:

_.i.,:_’%ﬁuwmig-éﬂfqﬁ i

Vi

Vil

wiii



4- Write short answers of any six parts from the following. 2x6=12 -uf/; fc.p,z,fﬁ,rzf,;g_d,«;_,_pbp@, -4

n fiid
i. Convert ? into degree. -ééf,fiufdﬁf? i
ii. Find "r" when: (=52cm , §=45° ;ﬁ%&f'r' i
iil. Write 47.36% into D°, M’ and S* form., e 2sm .0 47.36° i
Ilv. Whether the triangle with sides 8cm, 15cm and 17cm is acute b AP A5 1T 15 B UL v
obtuce or rightangled? W P
v. Define circle. _ _4:.:3;&}1; v
vi. Define secant line. -&_‘,{_g’_!);JLSC,bE' Vi
ii. Define circumference of a circle. < cé-:gﬂJ LEKe 2l Vil
iii. Define Circum angle. _z:_,)f-"._gﬂ};:r;.fw viii
ix. Define the inscribed circle. ..&_;i:gf/{,ﬁ}luf" X
Section -II (422>
Note: Attempt three questions in all while Q:No.9 is compulsory: Bx3-24 “@Us /‘Uir.ﬁuf f....U?L....fﬂlfpr O
5. (a) Solve the equation by completing square method. X% +1 71‘+ _/— 0 .:5:}’(‘}/,_,- oafenle (L) .5
'\/ﬁ \.\\
(b) ¥/ are the roots of the equation X’ —7x+9 = U fﬁ/\ﬁlﬁf{, Wl X =Tx+9=0on 8.2 /i ()
form an equation whose roots are 2& and 218wr \L _un2fB . 2a L,r’,-.:&;f._,r;t)ﬁ._.hv
‘&r/‘w \Jx +24+/x? - 2 -
- (@) Solve by using theorem of Compong do-dividendo \/ N wae = ‘.@’g_u&_}:"’.-.__,! AT - I
N 9
(b) Resolve into partial fractions: (x_])(_ﬁ_ 2)-’ q,,jf().:'fuf;/ds;? (h_-‘)
- (@) 11A={1,357,9},B=(1,4,7,10} and U={12.3... .. 10), 41B={1,4,7,10)A=(1,3,5,7,9).71 () .7
then prove that: (AU B)' =ANE :f'q_.f‘:-.»_e,?:-r:u={1,2,3__.......10}
(b) Find standard deviation from the given data. 83,889,8918 _b{/?-,-l#,_,iﬁdi_{,u;_;lr:-fé_.- (..,;)
(cot&+cosecd)(1an 8 —sin §) = sec - cos @ St Sk (i) 8

. (@) Prove that:
(b) Inscribe a circle in an equilateral triangle ABC with each side Luﬂ,,ﬁ.'l,ffhaﬂuf"‘u’ABC:ﬂﬁ-Luﬁuld:u (..,)

of length 5cm. »ﬁ;"5JP¢.{&f¢
Prove that two chords of a circle are congruent then they wili be ;:',rfn.!;u:fu"‘u“;}né:a__}'.:_" %g’:__.,_t. .9
equidistant from the centre.  OR L _Luslewg

Prove that any two angles in the same segment of a circle are equal. -._,_?.J'.,w,c!.:lf‘?puxifisuf.;, .'—',-_,b‘q,,h._ﬁe.-.;.,.-l;.fﬁcf,&

20'010'A— D‘-.h Bl - T



